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Module-1: SR et Td IaHT=ar

Q1. which is the physical hazard? | oot 7 & #ifaes gl F=ar 82
(A) Smoking | g&adTeT

(B) Vibration | sh&qeT

(C) Corrosive | &X0T

(D) Radio active | If33T @fhaar

Answer B

Q2. What is smothering in extinguishing of fire? | 31f3T ST QT FT 72

A) Adding the fuel element to the fire | 317 3 ST fAem=T

B) Removing the fuel element from the fire | 3137 & $U 37eT9T AT

C) Using of water to lower the temperature | STel T 3YITIT Flch ATTHTA Ha el

D) Isolating the fire from the supply of oxygen | 3113 @I 3ifereiatet & 3MYfct & 37eTT LA
Answer:D

~ o~ A~ o~

Q3. Which is the correct sequence of operation to be performed when using the fire
extinguisher? | Ta=T & & HTANUH P 3YTTIT el T el el FAT 67

(A) Pull, Aim, Squeeze, Sweep | e, fARITAT ST, SET=AT, AT

(B) Pull, Aim, Sweep, Squeeze | Gid=T, [T ST, GHTAT, GaTel

(C) Push, Arrange, Squeeze, Sweep | ¥ehelll, AU T, EHTeAT, GHTAT

(D) Push, Arrange, Sweep, sequence | iehelall, sTa e T, TATT, 3Tesh
Answer:A




Q4. Which plier is used for making wire hooks and loops? | FlsT & TR &l YA dR & goh
HR o7 eIt 7 glaT 872 >
(A) Flat nose plier | Fele ATSTCaTaR

(B) Long nose plier | SfeaT ATSTClTAR

(C) Round nose plier | 38 siTeT TATAR

(D)Diagonal cutting plier | STIFMel ST TR

Answer:C

Q5. What is the use of pincer? | TIEX &1 T 39T §?

(A) Twisting the flexible wires | Felfdadel dR & fa¥e =TT

(B) Cutting small diameter of wires | B¢ ST & dR &Il

(C) Extracting the pin nails from the wood | eTaT & & U7 T drel fHehrer=TT

(D) Holding small objects, where finger cannot reach SYET & YehsaT, ST61 STl o tl%:?I g
Answer:C

Q6. What is the name of road safety sign? | 8 s gI&T FIeg T FIT ATH 87

(A) Mandatory sign | 3TTaede =g
(B) Cautionary sign | ¥ade faeg
(C) Informatory sign | Fa=icHe o8
(D) Prohibition sign | fStres feg

Answer:A

Q7. What is the back-ground colour of warning signs in the basic category? | el Fofy &
T feg & I2T HIET &7 T FAT @1 872

(A) Blue | st

(B) White | 23

(C) Yellow | 9reTT

(D) Green | 81

Answer:C

Q8. Which type of fire extinguisher is used for fire on electrical equipment? | %@HW
o9l 3TIeT g et T HTIRHS TN FohT STl 872

(A) Halon type | &<lisT TR

(B) Foam type | ST 9 X

(C) Gas cartridge type | 3 SRTH TR

(D) Stored pressure type | §afgd gaTd T

Answer:A



Q9. Which Personal Protective Equipment (PPE) is used for the protection from fumes? | %IU

O G&T o T foh safebelaTe GR&T 3TehIoT (HIdTS) &1 3ATeT T ST 87

(A) Apron | dgeig

(B) Goggles | TRAT

(C) Ear mask | oIl shada
(D) Nose mask | sITh shad
Answer:D

Q10. what is the full form of BIS? | BIS &T q0T &9 &
(A) Board of Indian Standard

(B) Bureau of Indian Standard

(C) Board of International Standard

(D) Bureau of International Standard

Answer:B,

Q11. which artificial respiration method is to be performed to the victim with injuries on the
chest and belly? | fo& FehR T I @ [T & y2iier 38 ST o faw aned &, foraeht ol
IRUeAAC P

(A) Schafer's method | /Y fafer

(B) Mouth to mouth method | §g & #g fafer

(C) Mouth to nose method | Hg & =Tk fafer

(D) Nelson's arm-lift back pressure method | el T §oTT R e &aTa fafer

Answer:D

Q12. Which type of occupational health hazard is cause for infection? | ff& J&R &
TG TATELT W & HIRUT TShAUT g1 TohdlT &2

(A) Electrical hazard | fdegdIar sjsharet

(B) Biological hazard | Sifdeh sfehdTet

(C) Physiological hazard | QmIRe GaRT

(D) Psychological hazard | HT=T&eh aJehdTst

Answer:B

Q13. What is the use of this tool? | 3 3SR T FIT 3TANT 872
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A) Holding the hot substances | 3T# geraf & gersar

B) Cutting and twisting the wires | dRT @ &TeaT 3R AT

C) Extracting nails from the wood | eTehar & el ATl

D) Loosening and tightening the bolts and nuts | Siee 31K aTc &t relT FHTAT 3R e
answer:C

—_~ A~~~

Q14. What is the name of the safety sign? | $& gR&TT [KIeg o1 AT T &2

(A) warning sign | IdTasi feg

(B) Mandatory sign | 3TTa2de [deg
(C) Prohibition sign | vt fdeg
(D) Information sign | Fa=TcHA g
Answer:D

Q.15 What will be first-aid to be given to stop the bleeding of the victim? | §ifsd & &I &
JETd &1 ekl & foIT T GTUfRes RAfhcar 3uersyr arg ST 872

(A) Applying ointment | H#AIGH ol3TTT

(B) Keep the injured portion upward | @ 13T §T HTT &l FUX IG=T

(C) Covering the wound portion by dressing | T a1t & $7aT &t 3T e

(D) Applying pressure over the injured portion | @i¢ &r §U HIIT 9T Ga1q STeled

Answer:3

Q.16 What is the name of the cautionary sign? | 38 T g FI ATH FAT &2

(A) School | facaTer

(B) Guarded | &I

(C) Unguarded | 3r&RfaIT

(D) Pedestrian crossing | 3T sh1faer



answer:D

Module-2: FHeT${cl AR 3¢ATH U gl 3R

1. hat is the use of this gauge? | 3§ 3TT &1 T 39JTIT §?

Q\Q/ - "%
D/ T

(A) Check the internal radius of the job | SiTel &T 34T<‘-|ﬁEF BT & Straer

(B) Check the diameter of cylindrical job | sloia-llchN STe T ST ST

(C) Check the height and parallism of job | Sife @r:»uls 3R AT ST

(D) Set the job on machines parallel to datum Siiel @T FLMAT & 3TH & FATTAT TGAT
answer:A

2. What is the name of the file? | & YT T FIT AT §72

(A) Rasp cut file | I¥T e I

(B) Single cut file | TeheT The T
(C) Double cut file | & Fe T
(D) Curved cut file | ISR FHe T
answer:A

3. What is the name of the tool? | 38 35T &1 &1 AT §2
(A) Divider | f3arsst

(B) Inside calliper | 3TdRe dHellax

(C) odd leg calliper | faseT @191 FHelloR

(D) outside calliper | STET HelldR

answer:B

4 What is the use of mortise chisel? | HIeTSsT Sl T FIT 3YJT &2
(A) General chiselling work in wood | STehaT & TATHTY BeilehT0T AT
(B) Making rectangular holes in wood | e/&a!l & JTIATHR ©G el




(C) Paring and finishing joints in wood constant STelelr Ta fthfarer ¢ar
(D) Light chiselling cleaning sharp corners and in wood | T3l H geohT BellehuT 2T dol
foraIRT T TS

answer:B

5. What is the name of the drill bit? | 37 3 T &1 &1 AT 87

(A) Flat drill bit | Fele f3er fae

(B) Taper shank bit | &0 & fae
(C) Countersink bit | Fr3eI&s fae
(D) Straight shank bit | T¢e o fae

answer:B

6. Which file is used for sharpening the blunt teeth of a tenon saw? | Teh &eTeT 3TRY & e &Tdt
I AT A & Tw farg It T 39eT foham Sirer 872

(A) Square file | FIHR I

(B) Round file | eiTeh Yeir

(C) Triangular file | Feament XY

(D) Half round file | 37ErgeTee ¥t

answer:C

7. Name the part marked 'x' of the file. | X & 33T ¥t o HTIT FT ATH AT

(

(B) Heel | grer

(C) Tang | &a1

(D) Shoulder | 2lTesT
answer:B

8.Which type of half lap joint is used if one part of a job meets another part at some distance
from the ends? | TFT YR T 37¢T STUSIS AT foRAT ST &, ST TS T Teh HT9T FAA & 3T &
$o 1 4 fATdarg?




(A) End-lap input | T8-oi9 SIS

(B) Cross-lap joint | rE-olT=1g

(C) Middle-lap joint | AET-eI<iIs

D) Corner-half lap joint | SI=IT-314 olqsiis

(
answer:C

9. Which type of notch is used for making a metal tray with 90° bend and an inside flange? |
90° A1s 3R 37eX & Vel BT foretR o | &1 & FeTTat & T foner Wep & aAfer ot 39iter fomam
ST 8l

(A) V notch | V dtar

(B) Slant notch | fa&T Atar

(C) Square notch | FTHR Arer

(D) Straight notch | & Arer

answer:A

10. What is the name of the hammer? | 39 g2\S T T ATH &7

(A) Claw hammer | &t g2ilsT

(B) Ball peen hammer | sTer 9ieT giar

(C) Cross peen hammer | g 9T g2isr
(D) Straight peen hammer | ¥ UieT g2isr
answer:A

11. What is the purpose of cross cut cold chisel? | ST Fc T3 Beil T FAT 3662 67
(A) Cutting keyways | IdsT Hre H

(B) Cutting curved grooves | Il ATTIAT SIeaT

(C) Squaring materials at corners | AT I PIAT T TIHR FlT H

(D) Removing metal from large flat surface | 93T =tST Telg & T fXepTele

answer:A

12. Which type of curve cutting hand saw is used for internal cutting in wood? | e/ear &hr
TR HIEIT & ToIv foheT TR I ash T gEcll 3T TATT 6T AT 872

(A) Compass saw | 9T 31T

(B) Key hole saw | & grel 3RY



(C) Coping saw | &ITIaT 31T
(D) Fret saw | She 3TRY

answer:B

13. What is the name of the stake used for sheet metal work? | effc Heel F F fow 3uAter
glel aTel TCoh ol AT ATH 87

(A) quare stake | FITHR Th

(B) Hatchet stake | 8¢ &

(C) Blow-horn stake | sell &l T&ah

(D) Bevel-edge square stake | Sl TsT J9IThR Eeoh

answer:C

14. What is the name of tool? | 3SR &1 &1 AT 872

(A) Claw hammer | &t g2ilsT

(B) Tack hammer | ¢& gisr

(C) Cross pein hammer | &g 91T g2iisr
(D) Straight pein hammer | ¥ 9T g2isr
answer:B

15. Which causes knot defect in timbers? | Tehal & 116 GIY ST FAT HRUT &7
(A) Defective storage | GrYqUT USROT

(B) Uneven shrinkage | 379# T gt

(C) Growth of branches | amﬁaﬁaﬁ

(D) Improper seasoning | 3Tefd HIST{aAdT

answer:C

Module-3: AT, SiSecH, AIesNaT,- AN Sheel

1. What is the name of the wire joint? | & AR SIS T FIT 1T g7

Sy O [ P
- =1 !I L o

(A) Aerial tap joint | TRTe ¢TIl



(B) Knotted tap joint | siT¢s &9 SIS

(C) Duplex cross tap joint | STelerd i EUSITS
(D) Double cross tap joint | &Tel 1 ¢T SIS
answer:B

2. Which type of soldering flux is used for soldering galvanised iron? | cdeiiehd olig & foIw
fora 9o & GesiaT wererd sl 3uter fonar SITar 72

(A) Rosin | TfSeT

(B) Zinc chloride | STEAT FARIES

(C) Sal ammonia | FTel /AT

(D) Hydrochloric acid | 8TSsIFalleh 375eT

answer:D

3. What is the full form of XLPE Cable? | XLPE &1 ‘{F\U‘r g
(A) Cross Line Poly Ethylene

(B) X ess Line Phase Earthing

(C) Cross Linked Poly Ethylene

(D) Excess Length Paper and Ebonite

answer:C

4.What is the purpose of 'serving' layer in underground cable? | ${{HaTd shael # HdaT T T

=K

(A) Protect the cable from moisture | el &I sTHT & SATAT

G EEEEIRIEEESIGRIERIGI

(C) Protect metallic sheath against corrosion Hifcaeh dad @I §OT & SATT
(D) AR &l argHS N [Eufer & srrer

answer:D

5. How many electrons are there in the valence shell of a copper atom? | dlisl & THI] &
379 Teh H fohcel Selaclel 8ld 87

(A) 1

(B) 2

(C)8

(D) 18

answer:A



6.Which type of soldering flux is used for soldering aluminium conductors? | Uﬂﬁﬁ'&ﬁ
AT T TTesT Fl g [ ThR & AlesRIT Felard T JATIT fhaAT ST §2

(A) Tallow | &at

(B) Ker-al-lite | hX-3Tel-clTST

(C) Zinc chloride | STEAT FRTSS

(D) Sal ammoniarosin | ATel 3 AT AT

answer:C

7. Which method of cable laying is suitable for congested areas? | shaer [SoTeT Fr HieT AT
fafer ehrof &1t g 3ugerel 872

(A) Racks in air | gaT 7 ¥

(B) Duct pipes | s&c 9159

(C) Along buildings | $7a=T & &T2r

(D) Direct in ground | T STt &

answer:B

8.Which part of the underground cable is protecting the metallic sheath against corrosion? |
SAITT chalol 3 ShisT AT AT UTcAT Shee ol &ROT { T 872

(A) Serving | EfdaT

(B) Bedding | sfar

(C) Armouring | 3T RaT

(D) Lead sheath | o3 efter

answer:B

9. What will happen to PVC insulation in cable carries excess current continuously for long
period? | sheel & PVC FlTeleh T 3T 19T, Afe; 3 &RT ofFel THY cIeh @il 1872

(A) Voltage drop increases | et 9Td S¢aT

(B) Voltage drop decreases | dfecst 319 Tl

(C) Insulation resistance increases | 9TcRIer s¢amm

(D) nsulation resistance decreases | IfaRTer geam

answer:D

10.What is the use of Britannia T joint? | fserfaar Sitg &1 &1 394191 82

(A) Extending the length of the lines | TS ST =TS T TSI

(B) Inside and outside wiring installation | 3TdRe 31R a1 araRer Tanfa a==r

(C) Mechanical stress not required on conductor d@Teleh UX JTf3h dATd 3TARTD sT6l

(D) Tapping the service connection from overhead lines | FRITRY wfT$eT & FaT ST & SIS
answer:D

11. What is the name of the joint? | 38 S8 T &7 ATH g7



(A) Married joint | #RE i

(B) Scarfed joint | THIHS S

(C) Western union joint | %<+t JfardeT 313
D) Britannia straight joint | fserferar Sig

(
answer:0

12. Name the part marked X of belted U.G cable. | Soc¢8 AT oot H X & ST 1T &7

(A) Jute filling | TedeT Brgfeier
(B) Armouring | 3Rt

(C) Lead sheath | oI5 efrer

(D) Paper insulation | ShTdTeT HeTeleh
answer:C

13.What is the name of the tool? | 38 3SR &1 &7 7T &2
(A) cutting plier | FfEIT TaTIRX

(B) Wire stripper | aRR f&eWR

(C) Crimping tool | fshfeder gor

(D) Side cutting plier | AT ST TR

answer:C

14. What is the reading of the micrometer? | ATSHIHICI ST TTSATH FAT 72

(A) 5.06mm
(B) 5.00mm
(C) 4.55mm
(D) 4.05mm
answer:C



15. Which method of soldering is used for repairing the vehicle body? | aTg=it T STsT & FUR
€ AlesRar T et Y fafer ger hr STl 872

(A) Dip soldering | f37 @resRar

(B) oldering with flame | SaTelT & TT AresRaT

(C) Soldering with soldering iron | ATeaRaT 3TAReT & AT Ales T

(D) Soldering with soldering gun | ATesRaT 37T & ATY AlesRaT

answer:B

16. What is the current capacity of the 16 Amp. Cable, if it is protected by coarse excess
current protection? | 16A &hael ST URT &THAT &7 g, AfE Tg 31T AfaRerd aRT T&T garT
wfard g2

(A) 11A

(B) 13A

(C) 15A

(D) 18A

answer:B

16. What is the unit for Quantity of electricity? |fsTelr ST ATT & fAIT SHIS FAT §2
(A) Coulomb | shelTH

(B) Volt/second | diee/qes

(C) Ampere/second | TFEIIR/ASS

(D) EMF | faegd ameeh et

answer:A

17. What is the name of the soldering method? | SiesRaT fafer r Far A1 §2

A) Dip soldering | 37 @tesRar

B) Soldering iron | ETeaRaT 3T

C) Soldering gun | GresRaT 31T

D) Soldering with flame | SaTelT & AT AresRaT
answer:C

—~ o~~~

18. Which conductors are used for distribution lines? | fJa¥dR AT & oI SieA-AT degaeX
39T gIaT g7
(A) Insulated conductors | SIS Hrsacd

(B) Insulated solid conductors | g=geles AIfeIS Hegded




(C) Bare conductors | ST esFed
(D) Two core cable | & ®R Fadl

answer:C

19. What happens to the voltmeter if it is connected as an ammeter? | 4T 8IdT g, Ifc
dlecHICT &l ITHTCY T dlg SAIST ST?

(A) Low reading | shH 9T3dTh

(B) No deflection | 13 TadeleT =Tgr

(C) Meter burns out | #eX STel ST

(D) Overshoot deflection | T fa@releT

answer:A

Module-4: HT3d SelleFcehel 3eATH

Q.1 How many electrons are there in the third cell of the copper atom? | SICED IIATIT &
AraX a1 7 fhde STt 8l 872

(A) 8

(B) 13

(C)18

(D) 29

answer:C

Q.2 Which is the semiconductor material? | 3T€TaTere Jerey ShisT AT §7?
(A) Eureka | ZYehr

B) Ebonite | TalTSe

(C) Manganin | #eamfeleT

(D) Germanium | ST faze

answer:D

Q.3 What is the indication of neon polarity indicator used for checking A.C. supply? | f@aist
YTl Fehel 3T AC JTYfcl STTdd HHY Hehel T GIcll 872

(A) Both electrodes will glow | It Sl STeld &

(B) Only one electrode will glow | Fddl Ueh Sleels STeldl &

(C) Both electrodes will be flickering | &< SoieFels THbA &

(D) One electrode will glow and another will be flickering | Teh Selerels STelall 3R GEIT THDAT
answer:A

Q.4 Calculate the electrical energy in unit consumed by 500W lamp for 5 hours. | 500W &
T T 5 EE STellel TR T Fofl hT U 1 Ffote & feapifae|

(A) 0.5 unit

(B) 1.0 unit

(C) 1.5 unit

(D) 2.5 unit



answer:D

Q.5 What is the value of hot resistance of a bulb rated as 100W/250V? | 100W/250V & 3¢5
Tod & I3 YT T AT AT GIATM?

(A) 31.25 ohm

(B) 62.50 ohm

(C) 312.50 ohm

(D) 625.00 ohm

answer:D

Q.6 Which law states that in closed electric circuit, the applied voltage is equal to the sum of
the voltage drops? | st AT fATH g &, &I de fdegd TIRTY A 91T 31T dled o, dlecs
9Td o JNT & STeR @Il g7

(A) Ohm’s law | 37T &I faad

(B) Laws of resistance | 9AaRTeT &7 fazsT

(C) Kirchhoff’s first law | fsha® T ggell T#

(D) Kirchhoff's second law | foheiT® @l G&RT foiae

answer:D

Q.7 Calculate the total power of the circuit of twol amps rated as 200W/240V are connected
in series across 240V supply? | 200W/240V & &1 T 240V 3Tfct & Aol 7 53 gT & el e
1 Fifsre >

(A)50 W

(B) 100 W

(C)200 W

(D) 400 W

answer:B

Q.8 What is the reading of ohmmeter across opened ‘R2’ resistor? | 3gHHICI FT UTSATH

el U R2 A ox T gham?
S .
™

A) Indicate zero reading | e TSI I Hebel

B) Indicate infinite resistance | 37eid 93T 9T Hehd

C) Total resistance value of the circuit | IRTY &1 Fet FfcRrer Al

D) Value of sum of the resistance of R1 and R3 only | R1 3{k R3UTaRIET & 33T T AT
answer:B

—~ A~~~



Q.9 What is the change of resistance value of the conductor as its diameter is doubled? |
fenall =mereh & TToRTe & &1 R e gIaT, Ife 38eh ST Y ST Y f&T SIr?

(A) Increases to two times | ERIAT deh ¢ ST

(B) Decreases to four times | =R [=IT cTeh & &I ST

(C) Decrease to half of the value | 3T4T de &e & SITAT

(D) No change in value of resistance | 9faRYer & s IRaci= 18! gramm

answer:B

Q.10 What is the name of the resistor? | IfaRTer ST FT AT §2

(ot ' A
LAY 0

"

De——

£f

(A) Metal film resistor | €Tl ftheer wfcRrer

(B) Wire wound resistor | A &€T gT 9faRrer

(C) Carbon film resistor | FTeT fhear TR

(D) Carbon composition resistor | sTeeT fRfAT gfaer

answer:B

Q.11 Calculate the resistance value of the resistor by color coding method. | eR &1 fafer &
GART STcRIE &l AT S50

(A)23 x 103 W + 5%
(B) 26 x 103 W £ 10%
(C)32x104 W £ 10%
(D) 37 x 104 W £ 5%
answer:B

Q.12 Calculate the value of unknown resistance ‘RDC’ in the Wheatstone bridge network, If
PAB = 500W, QBC = 300W, SAo = 15W, at balanced condition. | dYeEele st & Hclelel T
37TEAT H 3737 IfARIEr ‘RDC’ T AT AT ShITaIT , 31§ PAB = 500Q, QBC = 300Q, SAo = 15Q
gl
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Q.13 Which material is having negative temperature co-efficient property? | forg gerey &
FRUTcH ATIHTTIOTIh T I Bl 872

(A) Mica | 37

(B) Eureka | JYehr

(C) Copper | dr&sT

(D) Manganin | #3TfaieT

answer:A

Q.14 What electrical quantities are related in Ohm'’s law? | 3T & T=IH & Faferd faed
AT it AT E?

(A) Current, resistance and power | &IRT, YT Uq QT

(B) Current, voltage and resistivity | €T, dlecst 3R gfaRTer

(C) Current, voltage and resistance | &RT, alecst 3R gfaRey

(D) Voltage, resistance and current density | areest, faRrer 31X &RT gaTar

answer:2

Q.15 Calculate the value of resistance ‘R2’ in the parallel circuit. | §HeaX IRIYT H R2 &1
A AT HifeTT

¢
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(A)2Q
B)4 Q
(C)6Q
(D)8 Q
answer:C

Q.16 What is the effect of the parallel circuit with one branch opened? | Teh QT&@r E_J,T»?r g W
HATdT IRIY H FAT THTT G2

(A) Current will remain same | RT THTeT =it JgiT

(B) Whole circuit will not function | 9T IR &1 oT&T &em

(C) No current will flow in that branch | 38 QUTET & €T AgT sgalr

(D) Voltage drop increase in the opened branch | Gell &N & dlecsT UTd §¢ STAaN
answer:C

Q.17 What is the unit of resistivity? | FTaRIEIRAT ST FIT SHIS 572
(A) ohm / cm | 3E#/THT

(B) ohm / cm2 | 3NEH/Q#2

(C) ohm - meter | 3Ed-#HreX

(D) ohm / meter | 3eA/HI

answer:C

Q.18 Which type of resistor is used for Arc quenching protection in circuit breakers? | Gfde
SRR 3 37Teh QT GI&T o ToIT Fohe Teh o UTRTEr ohT ST fohaT STelm 872

(A) Varistors | aRTeX

(B) Sensistors | Ef&eX","(C) Thermistors | a4fHATFex

(D) Light dependent resistor (LDR) | e8¢ f34ss e

answer:A

Q.19 Calculate the value of resistance by colour coding method. | FeR &S T & garT
FTaRIY T AT FATST

11|

(A)22x 103 £ 10%
(B) 23 x 104 + 10%
(C)25x103 £5%
(D) 36 x 104 £ 5%
answer:C

Q.20 Which is the application of series circuit? | o IRT2r T FAT 3T &7
(A) Voltmeter connection | aleeaiex TdTotel
(B) Lighting circuits in home | Rt & garreir aRayr



(C) Shunt resistor in ammeter | 37&HeX 7 2 IfaRIeT
(D) Multiplier resistor of a voltmeter | aieeHTeT T Ao ITaTAT Ffarer
answer:D

Q.21 What is the effect on opened resistor in series circuit? | Soft aRTy & gor gu g )
FIT I G2

(A) No effect in opened resistor | Gl TTcRTEr H IS T 776! g1

(B) Full circuit current will flow in opened resistor | @e] SfcRTer & & qoT aRuy 4rr sgaf

(C) Total supply voltage will appear across the opened resistor | E!T»T gfaRIer & gt 3R Dol
3mgfet ateest e

(D) No voltage will appear across the opened resistor | Gt GfcRI & St 3R HIS dleest 6T
feggam]

answer:C

Q.22 Calculate the resistance value in R3 resistor. | R3 9fcRIeres 7 9faier &1 A1 aarsv

=
| o |

.
kT
(A) 4 Ohm
(B) 6 Ohm
(C) 8 Ohm
(D) 12 Ohm
answer:D

Q.23 What is the effect of the circuit, if ‘ab’ points are shorted? | IRT2r 9T a1 Y3771a gem, Ife
AB &7 QITE Y fear SIrr?

- —_
e
L]

\
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(A) Circuit resistance will be zero | TRTY FfeRTEr == g SR
(B) Same current will flow in all branches | T3 METHT 7 AT YRT Sl
(C) Supply voltage will exist in each branch | Scdes ITET # 3MYfd atecst gam
(D) Total circuit current is equal to each branch circuit current | Pl IRUY YURT Tcdeh ATET
ITRT & HHTe gIafr
answer:A




Q.24 What is the name of the resistor if its resistance value increase with increase in
temperature? | If& ATTATT H F&r & AL SHHT GIARNY AT T &, Tl TTATEr 1 1A AT 82
(A) Varistors | aRTeX

B) Sensistors | &fAeX

(C) Thermistors | afF¥ex

(D) Light dependent resistor (LDR) | e8¢ 34ss e

answer:B

Q.25 What is the formula for Quantity of electricity (Q)? | %{Jﬁ HTAT ST JF T g7
(A) Current x Time | &RT x AT

(B) Voltage x Current | @iecst x 9RT

(C) Current x Resistance | &TRT x IfaRTer

(D) Voltage x Resistance | atecat x fcRIer

answer:A

Q.26 What is the unit of conductance? | TTeTehdT ST SIS FIAT &2

(A) Mho | gt

(B) Ohm | 30eA

(C) Ohm-m | 3gA-HIEX
D) Ohm/m | 3EH/FHI

(
answer:A

Q.27 Which one defines the change in resistance in Ohm(Q) per degree centigrade (°C)? |
30 gfa feaf S (°C) & ufoRier & aRadsr Y it ar IR wear &7

(A) Temperature effect | ATIATT THATT

(B) Laws of temperature | dT9dT & fa#

(C) Temperature constant | dTI#HTeT e

(D) Temperature co-efficient | AT9HTsT 3TV

answer:D

Q.28 Which type of meter is used to test the polarity of battery? | S T g[adr S & forw
fre TR &1 #Hiex gt R Srar &2

(A) Moving iron ammeter | I dilg 3/

(B) Moving coil voltmeter | Tel $Sell dlecHIe

(C) Moving iron voltmeter | T @ilg dlecHIeX

(D) Dynamo meter type wattmeter | STEAAIHICI TR T ATCHICIT

answer:B

Q.29 What is the voltage drop in resistor ‘R2’ in the series circuit? | o aRT2r & gfcRers
R2 H dlecsT UTd & HAlel 9dTST
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(A) 5 volt
(B) 10 volt
(C) 15 volt
(D) 20 volt
answer:B

Q.30 Which is the application of series circuit? | Hofr IRT T F4T 3T §2?"
(A) Fuse in circuit | 9RTU & Frs]

(B) Voltmeter connection | alecHel IS

(C) Electrical lamp in homes | ERT & T¢I ofq

(D) Shunt resistor in ammeter | 37#TeX e gfeRiTs

answer:A

Q.31 Which method is used for measuring 1 Ohm to 100K Ohm range resistance? | 1 3&d
& 100k 3NEH Teh AT & hlet Y fATEr o1 ST foham Siram 872

(A) Substitution method | gfaeardeT fafer

(B) Kelvin bridge method | &feaeT ferer Iafer

(C) Wheat stone bridge method | sgreEele fsior fafer

(D) Voltmeter and ammeter method | alecHieX 3R Taex fafer

answer:C

Q.32 What is the S.I unit of specific resistance? | fafrse gfaRrer it S| grs FaT §2"
(A) Ohm/cm | 3TEa /3T

(B) Ohm/metre2 | 3itea/HIe2

(C) Ohm-meter | 3EA-HIeX

(D) Micro ohm/cm2 | FTSshT 3Ea/A#T2

answer:C

Q.33 Which electrical quantity affects the heat generated in a conductor? | ﬁﬂﬁrﬁ?ﬂj—r?ﬁ%\f
ATeleh H AT 3cToeT ! FHTTIT HLaT §2"

(A) Voltage | atecst

(B) Square of the current | &TRT T @aT

(C) Square of the resistance | IfaYer &T gat

(D) Current passed through it | 383 JaTfgd &RT

answer:B




Q.34 What is the change in value of resistance of the conductor, if its cross section area is
doubled? [aTeleh o FIARTEr o ATl H AT IR Il 8, 3R AT ITIEY hIC &Thel G
g ST 87

(A) No change | 1S aRade 1gr

(B) No change | 15 9Rade ar

(C) Increases 2 times | 1T 31Tereh g1 ST &

(D) Decreases 4 times | TR I[AT e g1 ST §

answer:B

Q.35 What is the resistance of Light Dependent Resistor (LDR), if the intensity of light is
increased? | osc 3Us Ioeex 1 afaRier &1 glem, Ife Teprer T diadr ser &1 sa?

(A) Increases | S7¢3ITT

(B) Decreases | &3

(C) Remains same | T 3¢9

(D) Becomes infinity | 3Ted gF SITIaT

answer:B

Q.36 Which formula is used to calculate the power of a DC circuit? | DC 9RI & dfax &hr
ITUTSAT it ST AT HA 572

(A) Voltage x time | dlecsT x AT

(B) Current x voltage | &TRT x dlecoT

(C) Current x resistance | aRT x IfaR1er

(D) Voltage x resistance | @leest x IfaRrer

answer:B

Q.37 Calculate the hot resistance of 200W / 250V rated lamp. | 200W / 250V ¥e3 ofT & a1
gfarer Y o S|

(A)31.25Q

(B) 62.5 Q

(C)3125Q

(D) 625 Q

answer:C

Q.38 What is the value of resistance in an open circuit? | Teh Gl TR 3 FTRIET T AT 4T
g7

(A) Zero | =T

(B) Low | &

(C) High | 3=

(D) Infinity | 377

answer:D



Q.39 Which resistor the lowest current flows in a parallel circuit having the values of 50 Q
220 Q, 450 Q and 560 Qconnected with supply? | Wtr?{crzrﬁra%gtr 50Q, 220Q, 450Q
AT 560Q FTAUHT H § fohd FeTde 7 I A YRT §gId gIa?

(A)50 Q

(B) 220 Q

(C)450 Q

(D) 560 Q

answer:D

Q.40 What is the specific resistance value of copper conductor? | dTe dTeleh & fafase
(A) 1.72 Ohm/cm3

(B) 1.72 Micro ohm

(C) 1.72 Micro ohm/cm3

(D) 1.72 Micro ohm/m

answer:C

Q.41 Which is inversely proportional to the resistance of a conductor? |aTeis & FfaRIe &
faeaATaTc &/ giar &2

(A) Length | STFaTS

(B) Resistivity | IfcRrersrar

(C) Temperature | dT9HATT

(D) Area of cross section | 3T9EY I T &TT%Hel

answer:D

Module-5: Jeehcd Ud HUTRT
Q.1 Calculate the total capacitance value in the circuit. | TRTT ST el GTRAT T 07T HfSrw

(A) 0.16 uF
(B) 6 wF |
(C) 30 puF
(D) 70 pF
answer:B

Q.2 What is the unit of capacitance? | &TRdr $r SFHIS FAT 72
A) Mho | 7gr



B) Henry | =131

(C) Farad | %35

(D) Coulomb | eltd
answer:C

Q.3 What is the capacitance value of a capacitor that requires 0.5 coulomb to charge to 35
volt? |Teh TR &1 eTRelT &1t &1 gYam, Afe; 35 dlee & T 0.5 HeATH TR Y JTTRTRAT
g

(A)0.014 F

(B) 0.025 F

(C)0.14 F

(D)0.25 F

answer:A

Q.4 How the value of capacitance can be decreased? | GETRAT & AT &l & FH fhar 7
Hehdl §7?

(A) Increasing the plate area | Telc &1l Pl TGTHT

(B) Increasing the resistance of the plates | Telel hUTaRTY Hl ToTH

(C) Increasing the distance between the plates | Telet & F7ET T TaThT

(D) Using high dielectric constant material | 3= TRIfdedd faciieh Gers &I 3UZT $Hieh']

answer:C

Q.5 Which is the diamagnetic substance? | TRTH[ehIa Tere shisT AT &2
(A) Air | &g

(B) Steel | sEITT

(C) Water | STel

(D) Platinum | Teiéietsr

answer:C

Q.6 Which factor affects the polarity of the electromagnet? | #hleT &1 HReh faeTq Traeh I
AT Y FATTA el 872

(A) Length of the coil | HSelT #I cFeTS

(B) Direction of current | &IRT & fgam

(C) Strength of current | &IRT $r AfFT

(D) Strength of the magnetic field | TsiehIar &1 T QAT

answer:B

Q.7 What is the unit of Magneto Motive Force (MMF)? | HiehI dTgeh sl T T SohTg 672
(A) Ampere / M2 | TFITR/#HT2

(B) Ampere - M | TFIR—R-#HY

(C) Ampere - turns | TFRR-&=

(D) Ampere / turns | TFIIR/E=H

answer:C



Q.8 What is the unit of permeance? | TRHIAIT T SHTS FAT §2",
(A) Ampere - turns | TFEIIT-&=8

(B) Weber/Ampere turns | 3eR/TFIIR-Co 8

(C) Ampere turns/Weber | TeFIIR-g8/da

(D) Weber/Square meter | asR/HTe<2

answer:B

Q.9 Which rule is applied to find the direction of magnetic fields in a solenoid coil? |
aReAITerRT & et aTrehT feoim Wil & fow shlet | foverat ofrey fomar Sirar 87

(A) Cork screw rule | & ¥ I

(B) Right hand palm rule | a%ﬁma:rﬁm

(C) Flemings left hand rule | Fel#IeT ST ST &1 &l T

(D) Flemings right hand rule | Fel#HI3T 3T GIRITETY &I e

answer:B

Q.10 What precaution to be taken before connecting the different voltage rating capacitors in

series? | Y@ H fAfHeT aeest YET FUTRT &l Ssa & Ygol AT FTatilell sl ST A1igu?

(A) All the capacitors must be same manufacturer | T eI T &F [AATAT & glet T

(B) Each capacitors voltage drop must be less than its voltage rating | Icdieh hudTeR alecol
319 ST Aol XCIIT A hd gl AT

(C) Total capacitors value must be less than the lowest value of capacitor | Pl FHYHIE FT

AT FUTRA & TFdH ATl § A gleAT T1fgT

(D) Break down voltage of each capacitor must be same | Icde HETRT FT FH3T3+T dlocsl

HHATA il AT

answer:B

Q.11 Which material is the paramagnetic substance? | el T FeTd 3eTdehra qerd &2
(A) Cleat wiring | Felte aTIRITaT

(B) Copper | d1&T

(C) Bismuth | [af&aer

(D) Graphite | AwTST

answer:B

Q.12 What is the part marked as X in B.H curve? | B-H dsh & X GaRT 3iford HTeT I TH
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(A) Coercivity | srefafaer

(B) Saturation point | Heee faig

(C) Magnetizing force | Teehig el

(D) Residual magnetism | 3/@Q¥ geehcd
answer:A

Q.13 What is the similar term in magnetic circuit for conductance in electrical circuit? | fa’c\"g?r
gRaY & TArelehdT & oI Jahra aRIY & GAT e FAT 8?2

(A) Reluctivity |

(B) Permeance | TR&IH

(C) Reluctance | Reteed

(D) Permeability | IRfATsferer

answer:B

Q.14 What is the unit of Reluctance? | RetaeH Fr 315 T 872
(A) Weber / metre2 | asR/#HIex2

(B) Weber / meter | dsR/HIex

(C) Ampere turns / Weber | TFIIT-c=8/ae]

(D) Ampere turns / metre2 | TFRR-c=8/dsT2

answer:C

Q.15 Which is the correct expression of capacitance C if the electric charge is Q and the
voltage is V? | fe faga 3maer Q § 3 aleest V 8, ar HerRar C i wér sfdeafard war g2
(A)C=QV

(B)C=V/Q

(C)C=VaQ

(D) C =\VQ

answer:A

Q.16 How can you increase the pulling strength of an electromagnet? | mw%agaw
$r Wiaey T AT Hd FGT Tehd 67
(A) Increase the field intensity | & T iadT e



(B) Reduce the current in the coil | el # I FH X

(C) Reduce the number of turns in the coil | el F GAT3N AT AT F FI
(D) Increase the B-H curve of the material | tlT:'.Tﬁé??sﬁ U Ik I deTT
answer:A

Q.17 Which defines the flux density is always lagging behind the magnetising force? | el
EeTcd HRIT bl ol & U1 @l &, Teh&ehl TR el 872

(A) Hysteresis | feeefaa

(B) Magnetic intensity | e cligrer

(C) Magnetic induction | EIW‘?ITUT

(D) Residual magnetism | MQWQW

answer:A

Q.18 What is the effect on surrounding metal placed in a magnetic field? | Tshrar & & T
IS 3TTEYTH T 1] TR FAT THIE ISl 872

(A) Hysteresis | ey

(B) Skin effect | et g

(C) Eddy current | $fax &IR_T

(D) Dielectric stress | TRITAYT della

answer:C

Q.19 In which device the air capacitors are used? | IR HIHNCI HT ITANT fohd ITHIOT H
T STar g7

(A) TV tuner | &dT gaX

(B) Oscillator | gretsh

(C) Loudspeaker | ¢T38 T

(D) Radio receiver | ¥f33ar JaR

answer:D

Q.20 Which is the diamagnetic substance? | TRT Yaehid Jerd hieT €T 87
(A) Wood | eThar

(B) Nickel | faierer

(C) Platinum | caifeatar

(D) Manganese | #dTsiror

answer:A

Q.21 What is the S.I unit of Flux density? | el Esicd T S| ShTS FAT §7?
(A) Tesla | &I

B) Weber | 3%

(C) Weber/meter | asR/#HTex

(D) Ampere-turns | TFRR-c=8

answer:A



Q.22 What indicates the shape of a BH curve (Hysteresis loop) of material? | 9&ref sr B-H
ash ( TEECRE oY ) & TR AT GATAT 872

A) Reluctance of the material | 9T &1 Rerered

B) Field intensity of the substance |a&Tel &r &7 drgdr

C) Magnetic properties of the material | FeT¥ T Yaehrar faRIvATT

D) Pulling power of the magnetic material |aa®tr QAT ST i e

(
answer:C

(
(
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Q.23 Which electrical quantity is directly proportional to the eddy current? | sieT €T ﬁa‘éﬁ
AT A S URT o FHTUTH gl 72

(A) Voltage | atecst

(B) Current | &IRT

(C) Frequency | 3mgfa

(D) Resistance | wfaRTer

answer:C

Q.24 Which is the cause for changing the permeability? | TRATICT & gRafd glet T T
HROT &7

A) Length | ol&<TS

(B) Flux density | FeldrH "alcd

(C) Field intensity | &7 cfrarar

(D) Magneto motive force | W digeh del

answer:B

Q.25 Which type of capacitor is used for space electronics? | fr& &R T TR 3iaieT
Solaelliad & folT 3UANeT foham ST §72°,

(A) Plastic film type | TelTfeces fthed Tk

(B) Ceramic disc type | ffA® 3% 9K

(C) Electrolytic-Aluminum type | sﬁaﬁﬂlgﬁﬁ? TfAfags ghR

(D) Electrolytic-Tantalum type | Selarclegiceh- ccwH SCAE

answer:D

Q.26 What is the effect of the electrolytic capacitor, if open circuit fault occurs? |
SolagIaTS e HUTRA FT JHIT FT 81T &, 3R Goll TR &Iy g1l 87

(A) It will not function | T FI FTET AT

(B) It will burst at once | I Teh IR H e ST

(C) It will become leaky | Tg oiieh g1 SITTam

(D) It will function normally | I§ HTHATT §F { HRT ST

answer:A

Q.27 What will be the change in value of capacitance if the distance of the plates are
decreased in the capacitor? | g HUTRA # Telet T gt a g1 SATcl &, T YR & HeT H F241
aRadet grem?



(A) Becomes zero | = g1 STR¥eT
(B) Remains same | G#TeT 3831
(C) Decreases | & 8191

(D) Increases | §¢M

answer:D

Q.28 Which property of magnet is illustrated? | Teieh & hieT AT faRIVAT G2iTS 718 872

T -y
Lo

A) Directive property | & faeraar

B) Induction property | 90T faiyar

C) Saturation property | Hejoet faQIsar

D) Poles existing property | ¢d #isfe faRrser
answer:A

(
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Q.29 Which is a paramagnetic substance? | 3ieTdehd Jerd lel &1 87
(A) Air | &g

(B) Steel | sEITT

(C) Glass | &

(D) Water | sTel

answer:A

Q.30 Which method of magnetization is used tomake commercial purpose permanent
magnets? | TehTehYoT T fohat TATRY T 3TN ATOISTR 36T 8 FUTS YoFaeh Sllel o [T
R STar g7

(A) Induction method | 9T fafer

(B) Single touch method | Tehel TTST fafer

(C) Double touch method | argdr TTef fafer

(D) Divided touch method | fdsnfara Toet fafer

answer:A

Q.31 What is the effect of inductance if thedistance between the turns increases? | Jfe;
EATAT o e T g dG il &, ol 90T T F3TTe T &2

(A) Increases | ST

(B) Decreases | &3



(C) Becomes zero | =3 &1 STIAaT
(D) Remains same | §HTeT 3¢9
answer:A

Q.32 Which factor is determining the value of capacitance in capacitor? | TEmRT H GTRAT &1
HTeT foh e o GaRT TeTRd &l 18T 872

(A) Area of the plates | TelcT &l &19%el

(B) Shape of the plates | Telet T 3T

(C) Material of the plates | Tl &7 gerey

(D) Thickness of the plates | Telet I Alers

answer:A

Q.33 Which type of capacitors are used in RFcoupling circuit? | WWWHﬁﬁW
bR o hUETe T 3T fhdT SATdT 872

(A) Tantalum | ¢eereT

(B) Monolithic | Al e

(C) Electrolytic | Selargialisican

(D) Metalized poly propylene | €ITcJehel GlelTsTaTS ollet

answer:B

Module-6: AC IfchcH

Q.1 What is the resistance of the inductive coil takes 5A current across 240V, 50Hz supply at
0.8 power factor? | YRehcd Sl T FTRTET T g1, Afe 240V TR 5A URT of, 50Hz 37Tarcit, 0.8
QI I[UTieh 82

(A) 48 W

(B) 42.5W

(C) 38.4W

(D) 26.6W

answer:B

Q.2 What is the unit of susceptance? | TEICL ST SHIS FIT &7
(A) Mho | #gT

B) Ohm | 3ifeH

(C) Henry | g={r

(D) Farad | % RT

answer:A

Q.3 How the resonance frequency (fr) can be increased in A.C series circuit? | A.C Sofr
ARAY H 37egeATe; JTarc (fr) Y & TG ST Fehll 872

(A) Increasing the inductance value | YRehcd HIT & & Flah

(B) Reducing the capacitance value | GETRAT AT & HHT FIH

(C) Increasing the capacitance value | HUTRAT ATl & gefer i

(D) Increasing the resistance value | 9fcRTer #TeT 7 gefer ¥



answer:B

Q.4 What is the main cause for below 0.5 lagging power factor in 3 phase system? | 3 shell
SOTTelT 3 QfeFc [uTieh 0. 5@Wﬁ%ﬁ@ﬁmmmm%’?

(A) Due to fluctuation of voltage | dlecsT & 3dR TG o hIRUT

(B) True power due to resistive load | IfaRTer R & HROT T QAT

(C) Reactive power due to more inductive load | 378 e HR & FROT wfafwrarier afFa
(D) Reactive power due to more capacitive load | 31f&ie &ufafea #R & wRoT gfafharier
ufea

answer:C

Q.5 What is the current in neutral conductor in 3 phase unbalanced load in star connected

system? | TR TS UMl & 3 ol T R F wggol dleleh H URT 7 &2

(A) No current will flow | IS &TRT F&T sgafr

(B) The algebraic sum of current in 3 phases | 3 FeT31T 7 YRT T ST IraT

(C) The algebraic sum of current in 2 phases only | Shael 2 FHelT3T H URT ST Ao AT
(D) Lesser than the lowest current in any one of the phases | a3 & & fohell 7 a8 A
ERT T Jolell H HA

answer:D

Q.6 Calculate the apparent power in KVA of 3 phase 415V, 50 Hz, star system, if the line
current (IL) is 16A at 0.8 power factor. | 3 &, 415V, 50 Hz, T€R JOTTIT H hdlT H TTAT
QAT T ITOTAT PSAT, I wfrgeT URT (IL) 16A E 0.8 LrfFeT J[uTieh T-

(A) 15.2 KVA

(B) 11.5 KVA

(C) 9.2 KVA

(D) 5.3 KVA

answer:B

Q.7 What will be the readings of two watt meters (W1& W2) in 3 phase power measurement,
if the power factor is zero? | 3 elT 2IfFd ATGA & &I aTe HeX (W1 & W2) st I3 Fr gief,
e araR T A §72

(A) W1 & W2 both are positive reading | W1 3R W2 gi=it &eltcae Jfser

(B) W1 is Positive and W2 is negative reading | W1 €=TTcae & 3R W2 FOTTcHAS AT §

(C) W1 is equal to W2 but with opposite signs | W1, W2 & sRTsR &, ofareT Ralid Tahat &
(D) Zero W1 is Positive reading, and W2 is negative reading | W1 =3 &sllcHe g 31T W2
HOTcHS JAfSaT g

answer:C

Q.8 What is the maximum value of voltage for 240 volt RMS? | 240 diec 3RTATH & folv
dledsT I Jfeehcd Heg FATE?",

(A) 240V

(B) 415V



(C) 339.5V
(D) 376.8V
answer:C

Q.9 What is the formula for Reactive Power (Pr) in an AC circuit? | AC 9T # Rufeea arax
(PR) T § &1 87

A) Pr=VI

B) Pr=+2 VI

C)Pr=Vicos 6

(D) Pr=Vlsin 06

answer:D

(
(
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Q.10 Calculate the impedance of the circuit R = 5Q, XL=36Q and XC =24 Q. | R =5Q, XL=
36Q and XC =24 Q g, ar 9Rur # gfderar fr ot Hifg|

(A) 69 Q

(B)65 Q

()13 Q

(D)12 Q

answer:C

Q.11 What is the phase displacement in a single phase AC circuit? | Tehel e AC IRIT &
TR fohdelT gl &7

A) 90°
B) 120°
C) 180°
D) 270°
answer:A

(
(
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Q.12 Calculate the line current of the 3 phase 415V 50 HZ supply for the balanced load of
3000 watt at 0.8 power factor is connected in star. | 3000 aTe Hferd 87, 0.8 rfFe IUTH T
TR # AT 3 Fell 415V, 50 HZ 37TaciT § dTSeT &RT ST 01T i |

(A)8.5A

(B)5.2A

(C)4.5A

(D)3.4A

answer:B

Q.13 What is the power factor in a 3 phase power measurement of two wattmeters showing
equal readings? | cfieT el QAT AT & 2T aTe Het H FATT {3 few=l 9X e yoties 1
8?

A
B

(A)O
(B) 1
(C)0.5
(D) 0.8



answer:B

Q.14 Calculate the power factor of coil having resistance of 24Q), draws the current of 5A, at
240V/ 50HZ AC supply. | 24Q FRTEr ATell FH3ell o ATF J[OTIR I ITAT HITST, ST SAPT €T,
240V/ 50HZ AC 3TYfcf 9T il &-

(A)0.8

(B) 0.6

(C)0.5

(D) 0.3

answer:C

Q.15 Calculate the power factor of R.L.C circuit having resistance (R) = 15W, resultant
reactance (X) = 20W connected across 240V /50Hz AC supply? | 9faRIeT (R) = 15Q, 93oTmaT
SITCTETe (X) = 20Q # 240V / 50Hz AC 3Tqfci & Sf3 R.L.C IRTY & <A a[uTieh hr I10TeAT 2
(A)0.5

(B) 0.6

(C)o.7

(D) 0.8

answer:B

Q.16 Calculate the value admittance (Y) of the RLC parallel circuit connected across
240volts/50Hz AC supply and 8 Amp. Current is passed through it ? | 240volts / 50Hz AC
3qfet 31X 8 Amp RT FaTg aTel 58 RLC HHTeeR Hiehe o Aol USTAEH (Y) T 10Tl Y| 38
HATEIH T e I fonar Srar g2

(A) 3.33 Mho

(B) 0.33 Mho

(C) 0.033 Mho

(D) 0.003 Mho

answer:C

Q.17 What is the formula to calculate the line current (IL) of this single phase R - C parallel
circuit? | Tehel hell RC HHTecR IRTY H #llSsT &R (IL) & 01T it ol A &-




(A)IL=IR-IC
(B)IL=IR+IC
(C)IL=IR2-1C2
(D) IL=~(IR2 - IC2)
answer:D

Q.18 How the low power factor (P.F) can be improved in AC circuits? | TaY IRTT & &af
RISl I[0TTh (P.F) oY &Y gk ST SIT Hehcll 872

(A) By connecting resistors in series | 9faRret &l 4oft 7 Sga

(B) By connecting capacitors in series | FHTRAT I 07 7 Szt

(C) By connecting inductors in series | 9@cal sl Joft & S

(D) By connecting capacitors in parallel | GETRAT I THATTAR H FAZH

answer:D

Q.19 What is the relation between the line current (IL) and phase current (IP) in delta
connected system? | SeCT & 53 YOTTC 3 oISl &R (IL) 3R %sl URT (IP) & siier 3T Hoeic; 672
(A)IL=1P

B)IL=3IP

(C)IL=V3IP

(D)IL=IP/N3|IL=IP/~3

answer:D

Q.20 What is the purpose of phase sequence meter? | Shell TeFad HICX T 3663T FT 67

(A) To control the speed of 3 phase motor | 3 %l HeX &I ITTd FI [FIAT I & T

(B) To protect motor against short circuit fault | 2Ifc Tfthe ITercT & f&eTE Hiex FT T8 & forw
(C) To indicate the incorrect phase sequence of 3 phase | 3 thsl & Telcl TRUT 3TeJsha T ST
Hel o Tl

(D) To ensure the correct phase sequence of 3 phase system | 3 %ol JOTTell & Hel TXoT
3Feohel T FRARTT Fot & ferw

answer:D




Q.21 Calculate the apparent power of a star connected 3 phase load, if it is connected
across 3 phase 415volt/50Hz supply at 0.8 p.f and the phasecurrent is 10 Amps. | Teh T€R &
IS 3 Fell $TR T T ATFA Y ITUTAT X, IR g 0.8 ATFA I[UTTh TR 3 Fell 415volt / 50Hz
3Mfet & 53T & 3R Ol URT 10 AR

(A) 12.45 KVA

(B) 57.50 KVA

(C) 3.320 KVA

(D) 7.188 KVA

answer:D

Q.22 What is the P.F if one of the wattmeters reading is zero and the other reads total power
in 2 wattmeter method of 3 phase power measurement? | 3 elT 2fFd AT H 2 A AT
A A I Toh YT TSI 81 3R GERT Fol WU ST g, T ATl I[0Tieh T 82

(A) 0.5

(B) Zero

(C) Unity

(D) Below 0.5

answer:A

Q.23 What is the formula for form factor(Kf)? | BreT herex (Kf) a1 IF &1 g2
(A) | Kf=3iad A/3IRTATH Al

(B) | Kf=3TRUHATH ATA/3Had AT

(C) | Kf=31T&eheTa ATA/3 0 AT

(D) | Kf=3TRTHATH ATeA/3 &R IH ATl

answer:D

Q.24 Which electrical term is defined as the total opposition to current in AC parallel circuit? |
T FHTR ARYY 7 URT & el HRTY & & # ey Fegicreh Aee & TRHAT T STTelm 872
(A) Resistance | 9fcRTer

(B) Impedance | Sfaserm

(C) Admittance | TsHTEH

(D) Susceptance | GT<EH

answer:C

Q.25 Which AC circuit contains the phase relation between voltage (V) and current (1)? | f&
AC 9Ty & dlecst (V) 3R 4R (1) & T &7 Shell Foaed giar g?

(A) Pure resistive circuit | eI FTeRTeT gRgr

(B) Resistance and inductance circuit | IfaR1¥T Tq Wehcd IRIYT

(C) Resistance and capacitance circuit | IfaRTer va aRdr gy

(D) Resistance, inductance and capacitance circuit | IfaRIeT, 9Rehcd TT YR TRIYT

answer:A



Q.26 In a 3 phase system, if the active power is 4 kw and the apparent power is 5 KVA,
calculate the reactive power? | 3 FdlT YuTTell H, Ife TfshT ATFT 4 kw & 31 3oy orfFa 5
KVA g, ar afafsareirer erfea ST 101 i

(A) 1 KVAR

(B) 2 KVAR

(C) 3 KVAR

(D) 4 KVAR

answer:C

Q.27 In which condition resonance will occur in R-LC series circuit? | 3TR-Tol-dT Sofr aRaer
# foney T # 37e7eT1e gamT?

(A) Inductive reactance (XL) is zero | 9hT SicEme (XL) =T &

(B) Inductive reactance (XL) is equal to capacitive reactance (XC) | 9 gfaara (XL)
R gfderd (XC) & sRIeaR &

(C) Inductive reactance (XL) is greater than capacitive reactance (XC) | eI afaard (XL)
e gfaera (XC) & 3ifdew §

(D) Inductive reactance (XL) is less than capacitivereactance (XC) | 9%ehra gfaerd (XL)
HRhe gfaeard (XC) T HA g

answer:B

Q.28 How will you obtain positive reading in the wattmeter reads negative reading during 3-
phase two wattmeter method? | 3 el &I arcHIex [afer 7 areHex & FHUTcAS TTSATH gaf W
31T HelTcHS UTSTTH hd UTed HLar?

(A) By interchanging the connections of input terminals | eTqc &R o FLTSTeT 3TIH # deolel
SRS

(B) By disconnecting the connection of current coil in meter | HeX 3 €IRT HISel I HAFUA DT
fSEhaiae tah

(C) By reversing the connection of pressure coil in meter | #IeX # aTd ISl & FoleFeleT I
3oCT I

(D) By reversing the connection of pressure coil in meter | HieX & &aTd FHiSl & FAdUT I

3ecl Hlh

answer:C

Q.29 What is the form factor (Kf) for sinusoidal AC? | SITashII THY & Hia thareX (Kf) FaT §7
(A) 1

(B) 1.11

(C) 2.22

(D) 4.44

answer:B

Q.30 What is the reciprocal of inductance in AC parallel circuit? | T8 THTR IRIT H
Uehcd T IRETN T 572
(A) Reactance | wfaerd



(B) Admittance | TsHEH
(C) Conductance | dTelehdr
(D) Susceptance | g@ceH

answer:D

Q.31 Calculate the total power by two wattmeter(W1 & W2) method, if one of the wattmeter
(W2)reading is taken after reversing. | & aTe#e (W1 &W2) fafer garT et ferd & arorer
Y, Ife T areaier (W2) Q39T Sorest & a1¢ o ST &1

(A)W1x2

(B) W1 only | shael W1

(C)w1-w2

(D) W1 + W2

answer:C

Q.32 which 3 phase system, the artificial neutral is required to measure the phase voltage? |
it TY 3 Tell TUTTRIT H, BT diecol ol AT & TIT S iFH 3T AR Fr HTaITSAT &ldT 872

(A) 3 wire star connected system | 3 dR TR TdISTeT JOTelr

(B) 4 wire star connected system | 4 AR TR TAToTe JUTTelr

(C) 3 wire delta connected system | 3 AR Secl ATl YUl

(D) 4 wire delta connected system | 4 IR Secl TAToTe JUTel

answer:C

Q.33 What is the line voltage in 3 phase system if the phase voltage is 240V? | 3 %l JUTTell
3 gfe %ot dlecst 240V &, dl oSt alecsl F4T g7

(A) 380 Volt

(B) 400 Volt

(C) 415 Volt

(D) 440 Volt

answer:.C

Q.34 What is the power factor if one of the wattmeter gives negative reading in two
wattmeter method of 3 phase power measurement? | 3 %af 2IfFd ATT &I & areHex Jfr &
Ife U areHleT HUMCHS ITSTTH ST 8, af ITaR thereT T &7

(A)O

(B) 0.5

(C) Unity | 3T

(D) Less than 0.5 | 0.5 & &

answer:D

Q.35 What is the phase displacement between phases in a 3-phase circuit? | 3 el THY
IRYY H HlelTcX ThdelT gar g2

(A) 90°

(B) 120°

(C) 180°




(D) 360°
answer:B

Q.36 Which condition is called as resonance RLC circuit? | e f&ufer Y 31efeie RLC |fdhe
ShET STl 87

(A) XL > XC

(B) XC > XL

(C) XL = XC

(D) R < XL

answer:C

Module-7: ¥ 3R JedT

Q.1 Which device converts sunlight into electrical energy? | @isT €1 gfeFeT ¢q T fae[d Sl &
Jeeldr 8?2

(A) Photo voltaic cell | ®Iel aleess ToT

(B) Liquid crystal diode | feifdas foheee s/ ls

(C) Light emitting diode | e8¢ TTATETT 3RS

(D) Light dependent resistor | e8¢ 3dse IR

answer:A

Q.2 Which law secondary cell works? | & & ford faad & & e 87

(A) Lenz's law | oot T faT#

B) Joule's law | SeT &7 foraa

(C) Faradays laws of electrolysis | TS & faege raeres &I s

(D) Faraday's laws of electromagnetic induction TS & fegd grahg 9ot 1 fFaH

answer:C

Q.3 What is the formula to calculate the Mass deposited during electrolysis? | ﬁaﬂﬁw
& GIRTeT UTId GeTATeT Y IOTAT &l T TF FAT 572

(A) M=itgm

(B) M= zit gm

(C) M= it/lzgm

(D) M= z/it gm

answer:B

Q.4 How the capacity of batteries is specified? §EI FT &7aT FH TS AT &2
(A) Volt | aree

(B) Watt | aTe

(C) volt Ampere | @lec TFIRR

(D) Ampere hour | TFIIX geT

answer:D



Q.5 What is the name of defect that bending of plates in secondary cells? | 38 &Y &I ATH
9a1sT, {9 FROT A fdcides del H Tolc H3 STl &

(A) Buckling | Serfofar

(B) Local action | TTART fohaT

(C) Partial short | 371 orga2reT

(D) Hard sulphation | o FeheleT

answer:D

Q.6 What is the unit of electric charge? | faegd 3Taer hr &1 1S 7
(A) volt | ateT

(B) watt | aTe

(C) Ampere | TFUIIX

(D) Coulomb | SHelTH

answer:D

Q.7 What is the output voltage of lithium cell? | Tz O T fFeTa areest = gxar 872
(A) 1.2V

(B) 1.5V

(C) 1.8V

(D) 2.5V

answer:D

Q.8 What is the method of charging if the battery is to be charged for short duration at higher
rate? | S THY H 3T X | S AT F¥el g hleT Y fAfey 3roemhy sefy &7

(A) Initial charge | R 3maer

(B) Boost charge | &< 3raer

(C) Trickle charge | f¢aher 3maer

(D) Freshening charge | %fRs1aT 3mmaer

answer:B

Q.9 Which electrolyte used in carbon zinc dry cells? | ST SET s Hol # HieT AT fegd
39YCT 39T TohaT SATT 872

(A) Dilute sulphuric acid | de] HeFIR® 3iF

(B) Ammonium chloride | 3/ AT FR1SS

(C) Potassium hydroxide | 9reTRITe gB33IFASS

(D) Concentrated hydrochloric acid | dTeg HFCF{W R excl

answer:B

Q.10 which effect causes by passing electric current in liquids? | aa’fﬁﬁagﬁ YRT Jalfed
BIeTT ShleT T JHTT 872

(A) Heating | 3s# 1T

(B) Lighting | 9ehTeiir

(C) Magnetic | JFhT



(D) Chemical | TS

answer:D

Q.11 Which material is used to make negative plates in lead acid battery? | T T 31Ff SedI &
FHUTIcHS Tolc qalld %HE#HHTWEI’&’DTE’HT%’?

(A) Lead dioxide | CEE SAFATSS

(B) Sponge lead | TqieT HrAT

(C) Lead peroxide | i3 RRIFA183

(D) Lead sulphate | &I Hethe

answer:B

Q.12 Which technique is used to control the corrosion of a metal surface? | UIT—TFIFI%’? &oT
o TATF0T & hleT AT cTeheileh TANT BIch 872

(A) Anodic protectlon | 3SR R

(B) Cathodic protection | TR qReT

(C) Electrolytic protection | &t
(D) Electrostatic protection | f??N ﬁa'qa qem
answer:B

Q.13 Which cell is most often used in digital watches? | 3fateer afsat & @#Id: Sl @r
Tl TN BT &7

A) voltaic | areegs

(B) Lithium | ferf&asT

(C) Mercury | 9RT

(D) Silver oxide | feaR 3iTaaTSS

answer:C

Q.14 What is the effect if one cell is connected with reverse polarity in a parallel combination
circuit? HHI=cR JIHT IRYY 7 I Teh Ao bl fAG{d Yot o Ty G fowar sime, ar
JHTT gIaTT?

(A) voltage become zero | aleesT 3 8l ST

(B) Become open circuit | el IR g1 ST

(C) will get short circuited | FI'EI'leﬂT-r & SIyaT

(D) No effect will function normally | SIS TITT AGT, TTATT & F 1 HEM],

answer:C

Q.15 What is the function of fine selector switch in battery charger? | §e3¥ 3Ta & HISeT
Horeaex Faa &1 &1 H 72

(A) Selection of current rating | €RT Xf&aT T Feita

(B) Selection of charging time | 3TTaIeT & &l T

(C) Selection of voltage range | @tecsl 9T &l u«:—nq

(D) Selection of charging method | 3TaereT fafer 1 AT

answer:A




Q.16 What is the effect on output power with respect to temperature in solar cells? | HIX Tef
H dT9HTeT % Hog a1 H ferald AfeFd O AT IHTG gram?

(A) No effect on change in temperature dTIHTH H IS FHT &

(B) Increases with increase in temperature T H Jeier & HTY Jefor

(C) Decreases with increase in temperature dr9TeT & aa‘r%r & T ey

(D) Decreases with decrease in temperature dT9HTT & EI-TJfT & AT FHAT

answer:D

Q.17 What purpose the hydrometer is used during charging of battery? | §e3 & 33T &
HAY GISZIHICY T AT 3662 67

(A) Determine the AH capacity | Ah &7dT feiRa ao—{?r%?r

(B) Assess the battery voltage level | §e3T aieest TR [AaTers %Fr

(C) Assess the discharge level of battery | §e3T T fRTARIT TR o e

) Determine the specific gravity of electrolyte e 3raerey 1 fafirse areca Ui #ee

(.
e

answer:D

Q.18 What is the formula for Faraday's first law of electrolysis? | %T3 & fdegd 3rqees &
TUH [TH T g #1572

(A) M=Z/it

(B) M = Zit

(C)YM =it/ z

(D) M = Ztji

answer:B

Q.19 Which is used as an electrolyte in lead acid battery? | ¥T 35 Al H facgd 3raeaey
T dXE T 39N fRIT ST 82

(A) Hydrochloric acid | gT83IeFail e 3ol

(B) Ammonium chloride | A AIH FARESS

(C) Potassium hydroxide | 9T g53FdSs

(D) Diluted sulphuric acid | o] Gewg Reh 3rFet

answer:D

Q.20 What is the total voltage of the circuit? | TRYY T el dlecsT FAT §?




(A) 1.5 Volt
(B) 6.0 Volt
(C) 7.5 Volt
(D) 9.0 Volt
answer:A

Q.21 What is the outcome at the positive plate, after the chemical reaction in lead acid
battery during charging? | ET 37&eT Tof shT AU T T T ThaT & GRTT UATcHS Tolc
9 T A

(A) Sponge lead (Pb) | T9T<T oI5

(B) Lead peroxide (Pbo2) | i3 RIFdSS

(C) Lead sulphate (Pbso4) | @8 Hethe

(D) Lead sulphate + water | oI Tethc+ STl

answer:B

Q.22 Why the vent plug is kept open during charging of a battery? | &3t & 3TA2UT & GIRTA
T TolaT ShY Gell AT TG STl 872

(A) To escape the gas freely | 3G T FaIATIH TG Aehelat &

(B) To allow oxygen enter inside | 3Tl T 3R 3ot ot 8

(C) To check the level of electrolyte | fdegd 3TTEeT T T S gd

(D) To check the colour changes in the pIates T T LT SEeleT ST ed

answer:A

Q.23 In which method the battery is charged at low current for long period? | @i €T fafer &
Jq Y FA YRT R A THY I IMAFAT fomar Srar g2

(A) Rectifier method | fgsesRT fafer

(B) Trickle charging method | fearer 3maere fafer

(C) Constant current method | I &mRT fafer

(D) Constant potential method | faa fasra fafer

answer:B

Q.24 How the hard sulphation defect in lead acid battery can be rectified? | T 3/ Sedf &
HOR TN GIY Tl el SATeAT SATcT 52

(A) Changing with new electrolyte T ﬁa}gr-r IECT H TR

B) Replacing with new electrodes | AT SolFeIS T SEThT

(C) Recharging the battery for a longer period at low current | STt FI 3 YRT H s THT
ofeh GoT: AT Feh

(D) Recharglng the battery for short period at high current | §e3T &I 3TAHURT & e THT dh
e AT leh

answer:C

Q.25 which material is used as cathode (-ve) electrode in silver oxide battery? | eax
3TFATES de 7 P AT IS HATS (-ve) SAFIS T g ST fohdT ST 872
(A) Zinc | STEAT




(B) Copper | dT&T
(C) Carbon | el
(D) Silver oxide | eaR 3Tearss

answer:A

Q.26 What is the Electro Chemical Equivalent (ECE) of silver? | ﬂﬁﬂﬁﬂgﬁmﬁ?
Jodieh FATE?

(A) 0.001182 mg/coulomb

(B) 0.01182 mg/coulomb

(C) 0.1182 mg/coulomb

(D) 1.1182 mg/coulomb

answer:D

Q.27 What is the outcome of the chemical reaction that takes place in negative plate of lead
acid battery during discharging? | TXET 31FeT Tl ST AR Fr @S TohaT & GRIeT
FUTcH® Tolc G T JTA?

(A) Sponge lead (Pb) | TUToTolS

(B) Lead peroxide (Pbo2) | i3 RRIa183

(C) Lead sulphate(Pbso4) | o3 Hethe

(D) Lead sulphate + water | o8 Tethe+Tol

answer:C

Q.28 What is the purpose of separator in lead acid battery? | T 3/ St & [FHTTH 1
AT 3662 872

(A) To provide a path for electrolyte faced 319dacd %For LEAT HeToT Shlal

(B) To hold the positive and negative plate firmly &ellcieh Td FUTcHS Telcl Pl TS & Ths

&
(C) To avoid short in between the positive and negative plates | &siTcde Td FUTcHD Tolc

HEY THIYEI & Uehall
(D) To keep positive and negative plate in a sequence array | &=ilcaeh Td FUTcHSD Tolc hl

SIITETd dlleh ¥ T@aT

answer:C

Q.29 Which instrument is used to measure the specific gravity of electrolyte in lead acid
battery? | FHET 31Fel ded 1 TARISE e AT & leT & STRIUT T TN FohT ST 872
(A) Barometer | sRIHICT

(B) Hydrometer | gT831HeX

(C) Anima meter | TfaATHIEY

(D) High rate discharge tester | 3Ta &3 TRTa2 ¢¥eX

answer:B

Q.30 which type of inverter circuit? | S=ac TR i T §?



(A) Driven inverter | f33sT 3=acx

(B) SCR used inverter | SCR 3UafId =ac
(

(

C) Single transistor inverter | Tehel gIfoleeX SedceX

D) Two winding transformer inverter | &l $Selel ABIFR Srac
answer:B

Q.31 What is the effect of buckling defect in a lead acid battery? | T 375eT ST H dhioidl
XY ST FIT JHTT ISAT 872

(A) Bending of the electrodes | SelereIsT T H3 STl

(B) Reducing the strength of electrolyte | faege 3raere & e 1 e g ST

(C) Making short between the electrodes | FelergisT & HEF TEAYT

(D) Increasing the internal resistance | 3TdReh 9fcRIYr & gefer

answer:A

Q.32 What is the total output voltage of the circuit? IR & FeT [T ateest FaT 872
i o

L@

L

| d | G|
| |I I|
14y 18y 14V
(A)OV
(B)1.5V
(C)3.0vV
(D)4.5V
answer:D

Module-8: arafar 371
Q.1 How the conduit pipes are specified? | F=g3e Usq ¥ fAfdse fhr I §2



(A) Length in meter | oaTS, FleT

(B) wall thickness in mm | §IaR &1 Alers, T 7
(C) Inner diameter in mm | 3Td e =g, AT &
(D) outer diameter in mm | sTeg =g, e &
answer:D

Q.2 What is the fusing factor for rewireable fuse? | 9e1: AR S&eT T9g FT & ferw wgfaiar
e FAT 8?2 (A) 1.1

(B) 1.4

(C) 2.1

(D) 2.5

answer:B

Q.3 What is the purpose of underwriter's knot for pendent holder connection? | 9s¢ gles<
TAISTT & foIT 37SWSTT T 317G T 36T AT 872

(A) Avoid loose connections | Eet TATST=AT & ST

(B) Increase mechanical strength | Ieh ArfeFed # gefor

(C) Prevent excessive cap cover pressure | A Y A EaTT F Aehel

(D) Reduce the strain from the terminals of accessories | ATHTT & effeTall & T HH L
answer:D

Q.4 What is the type of fuse? | T[T &hisT ¥ FehR ol &2

(A) Knife edge cartridge fuse | 9T &X chllgdwd

(B) High rupturing capacity fuse | E'Ié TSGR &TH AT TGt
(

(D

C) Ferrule contact cartridge fuse | F&el HASTH Pl o
) Diazed screw type cartridge fuse | 3RIeS U bR Fifcal LR
answer:B

Q.5 What is the name of electrical accessory? | faeged Gr#al &7 A1 FaT 8

.IIIIIIIIIIIIIJJ

(A) Bracket holder | She glesX
(B) Edison screw type holder | TfS&sT ¥ JhN glosy



(C) Angle swivel lamp holder | 10T fadel o7 glesx
(D) Goliath Edison screw lamp holder | Tfervy TfSHeT &5 o glel

answer:B

Q.6 What is the name of symbol used in wiring circuit? | araRaT IRTY 7 JgeFd Tclieh I ATH
FATE?

il

v

(A) Link | foier (B) Fuse® st

(C) Pull switch | geT &aer

(D) Plug and socket | To1eT 3iR @fdhe
answer:D

Q.7 Which type of load is protected by the L-series MCB? | L-80f MCB & gaRT &8 YR &
HIT T et fonam Sirar g2

(A) Motors | #leX

(B) Geyser | 3o

(C) Hand tools | g&dr 39k

(D) Air conditioner | aTdTelsheleh

answer:B

Q.8 Which type of switch is used in the circuit? | fohdl Jeh IR &1 &=l HFIE H 3TANT Hid &2

i

|
—

(A) One-way switch | Tehel I T&a=r

(B) Two-way switch | & 9 F&a=r

(C) Intermediate switch | =ctFIlcTe Faa
(D) Multi position switch | HecraIToTerT fEa=r

answer:B

Q.9 What is the effect of low current rated cable used to connect higher current load? | hH
YTRT IS helol I I YRT AR H SSe1 FIAT THG G2
(A) Voltage drop increases | diecol 9Td SGall



(B) Load current increases | HR &IRT S¢9ir

(C) voltage drop decreases | @lecol T €T

(D) Cable damage due to heat | 33T & HROT shalel WIS
answer:D

Q.10 What is the name of the conduit accessory? | Hesgc QAT T FIAT ATH 872

(A) Solid bend | 3T &3

(B) Solid elbow | 31 Tesr

(C) Inspection Bend | fareTor 53
(D) Inspection elbow | far&ToT Tear
answer:.C

Q.11 How many two way switches with intermediate switch are used to control one lamp
from three different places? | #Egacil & & AT fohclel T d T&a< Ueh ST I cfieT 3TefeT-37e19T
T § IR e & faw 3uter fore sma g7

(A)1

(B) 2

(C)3

(D) 4

answer:B

Q.12 What is the advantage of concealed wiring? | F&Tes IR T FAT HIIGT 872
(A) Easy to maintain | G#Telel # 3THTeT
(B) Less voltage drop | & alecst 9T

(C) High insulation resistance | 3T FeTeleh FfcRTer
(D) Protection against moisture | Flﬁfﬁg?&ﬂ
answer:D

Q.13 What is the name of the diagram? | 3TR&@ T T ATH g2



e o

(A) Installation plan | TATI=TT JST=TT","(B) Layout diagram | oI3113¢ 3IRE
(C) Wiring diagram | arafaT 3@
(D) Circuit diagram | 9RT2 3@

answer:D

Q.14 What is the fusing factor for high rapturing capacity fuses (HRC)? | HRC EFQ\GT%T:[
TS I[UTIeh AT &7

(A)1.0

(B) 1.1

(c)14

(D) 1.7

answer:B

Q.15 Which type of relay can be operated at both A.C and D.C? | frg &R & Rel &I A.C
3R D.C ait # Fanferd fohar S dehdT 872

(A) Ferred relay | %s Rer

(B) Thermal relay | &1 Rt

(C) Impulse relay

(D) Dry reed relay | 315 &5 Rer

answer:C

Q.16 What is the name of the accessory used in electrical appliances? | faajgﬁwtrﬁﬁ
gl FTHIT T T ATH 872

(A) 2 Pin plug | 2 T9sT Telar

(B) Three pin plug | citeT et ToraT

(C) Iron connector with direct entry | T gder & 1Y dlig AT
(D) Flat connector with side entry | §3Tel WA2T & ATY TUC TATSTH



answer:C

Q.17 What is the name of the accessory symbol? | T Yciieh T ATH FT &7
) I_,I’"\-\.

i

\
\t{/

(A) Bell push switch | sef qer e
(B) Two way switch | € d f&a=r

(C) one way switch two poles | e ¢1d a<T I f&a=

(D) Multi position switch single pole | wg FEufd veher ga Faa
answer:D

Q.18 What is the purpose of the flexible cords in domestic wiring? | Bl ART # efeiell TRT &
FIAT 3852T 872

(A) Concealed wiring | §aiford araRar

(B) Permanent connection | TTT TdtsteT

(C) Run cable through holes in ceiling | TIfeiaT 7 S & FACIH & hadl TellT

(D) Connection transportable appliances | grAUT¢S ol 3UhIUT holdrlel

answer:D

Q.19 Which type of circuit breaker is used above 100 A current rating? | forer aRT2r 3151 T
3TART100 A GRT 7T & IR foRam Srar g2

(A) Miniature Circuit Breaker (MCB | ffaw=R &fée st

(B) Earth Leakage Circuit Breaker (ELCB) | 3729 ofiehat Gfthe S

(C) Moulded Case Circuit Breaker (MCCB) | #lea8 & Afhe siah

(D) Residual Current Circuit Breaker (RCCB) | 3/a¥ &IRT &fdhe saT

answer:C

Q.20 What is the purpose of tin coating on copper fuse wire? | dTel & Fsl R 9 f&eT hifear
T FIT 36527 &7

(A) Withstand high temperature | 3Td dT9HTT HaaT

(B) Increase the fusing factor | #gfiaT UTUW A gef

(C) Prevent oxidation of copper wire | T & AR T 3iareoT e

(D) Increase the mechanical strength | Ik AfeFed & gefor

answer:C

Q.21 What is the name of the four insulated conductors group? | 9T ehuuok-l qTelehl h SEE
T T ATH g7

(A) Pair | 53T

(B) Core | IS

(C) Quad | sFars



(D) Layer | 9XcT
answer:C

Q.22 How many two way switches are required in godown wiring circuit to control four lamps
| TR g 1 fAafd e & forw aie# aaRer afdhe # fohder af g & Raa 3maas §

(A) 2

(B)3

(C)4

(D)5

answer:B

Q.23 Why tree system of wiring most suitable formultistoryed building? | g STl SART &
fore At < &Y qoTTely T 3Ug 4t §2 )

(A) Easy load balancing | 3TTe $R Hclolel

(B) Constant voltage distribution | f@ad ateest faaror

(C) offers minimum voltage drop | #gsTc# dlecsl 9T glell

(D) Easy in fault finding with many fuses | &% ¥l & AT &Y o=t H HTeldT

answer:D

Q.24 Which is used as a filler material for fixing screw hole on ceiling? | @hﬁﬁﬁ@m oG
A 8 9T TeTd & & # Fohgent 3uNeT foham STl 87

(A) Paper | sh1aTat

(B) Nylon | sITarelisT

(C) cement | @FT

(D) Poly vinyl chloride | 9Tell fladSel FeR1S3

answer:B

Q.25 What is the symbol indicates? | Ig Wcileh FT &2ATAT 872

Q0

A) Table fan | #FsT 9T

B) Ceiling fan | & T 9@T1
C) Bracket fan | §ehe 9T
(D) Exhaust fan | f@erT g@r
answer:B

(
(
(

Q.26 What is the name of the relay? | el T AT T 872

==

(A) Impulse relay | 37391 et



(B) Dry reed relay | 315 {15 Rer

(C) Electromagnetic relay | faegd geeshg Rer

(D) Mercury wetted contact relay | 9RT 3freT Tueh Rer
answer:B

Q.27 What is the name of the diagram? | 3R T FAT ATH §?

(A) Layout plan | of3113¢ 3@

(B) Wiring diagram | arafiar 3@

(C) Installation plan

(D) Schematic diagram | ST IRE

answer:C

Q.28 Where the Iron Clad Double Pole (ICDP) main switch is used? | ICDP ﬂ@%ﬂw
39T gl ThdT SITT 872

(A) Large industrial installations | §3 3iiga e FamdeT

(B) Control main or branch circuits | &I IT MET IR & =0T

(C) Single phase domestic installations | WWEIW\FW

(D) Three phase power circuit installations | el %ot 2Ifard IR TUTIAT

answer:C

Q.29 Which electrical accessory belongs to general classification of accessories? | ®isT &@r
T e QA WATHT & WA Gafiehor § HFETEd 572

(A) Fuse | vt

(B) Ceiling roses | #ifefar st

(C) Intermediate switch | etHI3Te Raa

(D) Pendent lamp holder | 93¢ &7 glesx

answer:B

Q.30 Which is the application of DC series MCB? | DC #[@ell MCB T 37e]91aT shleT &T &2
(A) AC motor | T&EY HIeX

(B) DC motor | 8 €T HAleX

(C) Locomotives | elieptATea

(D) Air conditioners | aTcTe]hetsh

answer:C



Q.31 What is the term for the time taken by a fuse to interrupt the circuit in fault? | ar &
Tiehe sl STEId el & [T TSt GaRT ol I/ §H AT §

(A) Time factor | FHZ F[0Tieh

(B) Fusing factor | tl—'{laﬁfT a;ruw

(C) Cut-off factor | &< 3T I[0TTH

(D) Fusing current | #gfSiaT &RT

answer:C

Q.32 Which place the Tree system of wiring is most suitable? | arIR3T T & AFed v
T R TG 3TGF &7

(A) Godown wiring | 3&Te araReT

(B) Industrial wiring | 3iteZ1fare arafier

(C) Domestic wiring | B arafer

(D) Multi storied building | §§ HTSTeIT HdeT

answer:D >

Q.33 What is the maximum PVC conduit size tom a kesafe cold bending? | §XT&¥d 33T Alsal
& Torw AT sTelt &1 31f8ehd# TR a1 82

(A) 12 mm

(B) 19 mm

(C) 25 mm

(D) 50 mm

answer:C

Q.34 Why separate wiring is recommended for home the atre wiring and power wiring? | 81
frwex arafer 3R arar afer & forw 3rerer arafRer fr RAwier 47 T ST 872

(A) Avoid electrical fire | TSSTell T 39T & S9Td

(B) Reduce power loss | I gTfel Sha shiell

(C) Avoid electrical interference | fSsTell & safdeoT & §<T

(D) Maintain voltage level constant | aieesT TR f&R §=1TT &

answer:C

Q.35 What is the name of the lighting circuit? | JerTei=r aRTer ST F47 AT §72
mirmicmiE

A) Tunnel lighting wiring | T Fehrer araRar

B) Corridor lighting wiring | ITTerIRT Yehrer araiar
C) Godown lighting wiring | SN&T#H JerTer arIieT
D)

(
(
(
(D) Staircase lighting wiring | TY¢T JehTer araiar



answer:C

Q.36 What is the tool used to bend conduits? | Fe3ge ! AISe & fIT T ITIOT T 3TN
T STar 872

(A) Hickey | fgehr

(B) Coupler | sh9elX

(C) Pipe vice | 9139 arsq

(D) Bench vice | 5 ar$d

answer:A

Q.37 What is the expansion of MCB? | MCB &T fa&dR &1 87
(A) Minute Control Breaker

(B) Miniature Circuit Breake

(C) Minimum Current Breaker

(D) Maximum Current Breaker

answer:B

Q.38 What is the purpose of ELCB? | ELCB &T 36¢2T T 8?2

(A) Detects the fault in circuit | IRTY F SIY GisTel

(B) Monitors the residual current | 371 &RT I AT

(C) Protects the equipment from over load | T3 & 3UHOT I FR&TT HIlT &
(D) Protects from short circuit fault | STEUYeT & 3UhTUT T FI&T T &
answer:B

Q.39 What is the purpose of the fuse cut out provided at the incoming power supply? | 3TTd
forstely 3mfct 31 eTeT fohT 31T RIS he ol 3eged T 872

(A) To ensure the line is not over loaded | I AR ¥t & ToIT foh ot AR 6T &

(B) To maintain the stabilised supply voltage | MY st FTT 3@ & fore

(C) To protect the circuit from the leakage current | Gfhe I olichel I & FdT & TaIT

(D) To protect the human beings from electric shock | dTfeh SaTeT I fasTell o STceh & ST
ST HHAT S

answer:A

Q.40 What is the use of die stock set? | 318 TcTeh T T FAT ST g2

(A) Cut external threads on square pipe | TSR IIST H ST U HIEAT

(B) Cut internal threads on cylindrical pipe | SeleThR 918 W AT AT HICAT
(C) Cut external threads on cylindrical pipe | SeeIThR U8 TR ST US FHIcaT

(D) Cut internal threads on rectangular pipe || 3SR 9189 9 AR U3 HIeAT
answer:C

Q.41 What is the purpose of the circuit diagram in wiring installation? | arer TeiorereT &
IRIY 3RE T 36627 FAT 872

(A) To show the physical position of accessories || @ Fr Hifasw Tufa feare & fow

(B) To estimate the various accessories in the circuit | Gfhe # fafeest AT 1 HTATT ST
& forw

(C) To inform the reader quickly what for the circuit is designed | 9Tae & STedl ¥ FfAT HLat
& forv fon afehe forafart fBoms= fhar srar g



(D) To show the schematic connection of the circuit for a specific task | f&T fTaf2rse T &
forw afdhe &1 Aoty Fawere iGae & fou

answer:D

Q.42 Which electrical equipment is provided with L series MCB? | L @elT MCB & &Y ahlel
O Aegd 39T YeTe fhT ST §7
~9 .
(A) General lighting | STeiRel eI fear
(B) Motors | #AleX
(C) Air conditioner | aTdTelshel
(D) Halogen lamp | gelistel ofT

answer:A

Q.43 Why the looping-back (loop in) method is preferred in domestic wiring installation? |
B ATIRAT SECTIRIE H SffdaT-aeh (o[d 3o) fafer aral o &t STl 872

(A) Easy to identify the faults | GIST T TgTeT AT 3T &

(B) No separate joints are used | SIS 3TeTaT & SAST T 3YATIT TgT [HAT STAT &

(C) More number of tappings can be taken | 31f81e T&ar & AT &7 3T Thall §

(D) More number of sub-circuits can be made | 3181 T&ar & 39-gfhe §ATT ST Thd &
answer:B

Q.44 What is length of thread on rigid conduits as per BIS? | SI3TSTH & 3[HR HoR sy T
TR U3 T oaTs FAT 8?2

(A) 9mm - 20mm

(B) 11mm - 27mm

(C) 13mm - 25mm

(D) 15mm - 30mm

answer:B

Q.45 Which type of conduit used for gas tight explosive installation? | 3 T8¢ faTwicsh
TUTIAT & T ford GehI T Shog e o1 3T faham ST §

(A) Flexible conduits | oreTel hegge

(B) Rigid steel conduits | F3R SEIT e

(C) Rigid non-metallic conduits | 3R 37eNTcae sHesge

(D) Flexible non-metallic conduits | erdier WW@

answer:B

Q.46 What is the function of circuit breaker? || Tféhe S ST 1T FT &2

(A) Making contact at normal condition | TT#T=a f&afa & TUH =T

(B) Making contact at abnormal condition | 3T TUfY & TUH =T

(C) Breaking automatically at abnormal condition | 3T FUfa 7 FTaarferd &7 & A5
(D) Physical breaking contact at abnormal condition | 3= &Y & $ifas o & Jus
GIEGIR;tEl

answer:C

Q.47 What is the function of bimetallic strip in MCB /MCB #Hefatmfcaeh Ieel & T &1
(A) Over load protection 3ITdHR & SATAT

(B) short circuit protection eTeYeT FI&T

(C) Over voltage protection3TT&e dlecdr & STel




(D) Earth leakage protection | 313 Rara gweatm
answer:A

Q.48 What protection offered by residual current circuit breaker? | 37afRrse ¢RT Tfehe sh
ST AT GIETT YTl 1 SiTell 872

(A) Protection from shock | $Teeh & FI&T

(B) Protection from over load | ﬁmﬁﬁﬂm

(C) Protection from short circuit | eI &I

(D) Protection from leakage current | effehol €IRT & FR&T

answer:A

Q.49 Which wiring is suitable for temporary installations? | 3/ fasaTAT & foIT sie dY
araRer 3ugerd &2

(A) cleat wiring | Feite araReT

(B) Concealed wiring | F&Tes araiar

(C) PVC conduit wiring | ST shesge art

(D) Metal conduit wiring | €T #=sde araRaT

answer:A

Q.50 Where the phase conductor is looped in looping system of wiring? | arIRaT & offdar
FOecH # %ot ST BT Tl ST ST 872

(A) Switch box | Fa= stea

(B) Junction box | STarereT Sierd

(C) Distribution box | faa=oT sferar

(D) Socket connection | Gfdhe ATl

answer:D

Module-9: 377231

Q.1 What is the minimum size of Copper earth continuity conductor used in single phase
domestic wiring as per BIS? | 3MSTH & TTER Uehel TXOT ERe] ArFRT 3 ofiaT 371 foiere
hSehel &l wgsTcH 3MTehR FAT 52

(A) 3 Sg.mm

(B) 3.5 Sq.mm

(C) 2.5 Sg.mm

(D) 1.5 Sgq.mm

answer:D

Q.2 Which method is used to reduce earth resistance value in a existing earth? | H CT 3724
ST H 371 YA AT &l &l el o foIC ford geerfar T 39ter famam Siar &2

(A) Increasing the length of electrode | SaaEIS &I TaTS ToTaT

(B) Keeping wet condition in earth pits always | €Rdl & I18aT H gHRT el AT F I@=AT

(C) Adding more sand and charcoal in earth pits | T3¢ 3R I TAT ARPIT AT

(D) Increasing the diameter of earth electrode | 3{\5(‘44’9\5 T ATH FGTodl

answer:B




Q.3 Why A.C is required to measure the earth resistance by using earth resistance tester? |
37 eI 9aTeh T 3TN Fleh 37 & JTORTY Sl AT & [T A.C FI 3TaThdT F31 g2
(A) Regulate the current | #e & fATHT L

(B) Increase the voltage drop | @iecsT UTd F&Ie

(C) Decrease the voltage drop | @leesT ITd €eTd

(D) Avoid electrolytic emf interference | 3198y f3.dT. &l I gCT=T

answer:D

Q.4 What is the formula to find voltage drop of a A.C single phase wiring circuit? | A.C Tdhel
P ArRAT IRYY & dlecsT UTdl i folehlelel &l G F4T

(A) voltage drop = IR volt | @ecst 9T = IR dlec

(B) voltage drop = I2R volt | alecst 9Td = 12R dlec

(C) voltage drop = I/R volt | @ecsT 9T = I/R dlec

(D) Voltage drop=IR/2 volt | dfecst 91 = IR/2 dleT

answer:A

Q.5 What is the maximum permissible load for a power sub circuit as per |.Erules? | |.LE
fATHAT & 3THR 9Te’ 39-TRTY & T AT 3THT 0N &1 872

(A) 800 Watt

(B) 1500 Watt

(C) 2000 Watt

(D) 3000 Watt

answer:D

Q.6 Which location the service connection supply leads to be connected at consumer main
board? | ST T 1S 7 FaT FATSTeT MYt fohey T2TeT & 3T gl 87

(A) IC cut out | 3TEHT He 33T

(B) Main switch | F&a &a=

(C) Energy meter | FoiTHTdY

(D) Distribution board | faaRor a5

answer:C

Q.7 What is the type of test in domestic wiring installation? | ERe] aTReT FATIAT 3 TT&TOT T
YRR FAT 872

CRCUT FUSES W

I |
| Kl | L —— muasm |

Eﬁﬁ%fw

(A) Polarity test | e Sirer



(B) Continuity (or) open circuit test | faReReT (IT) el TRTY ST

(C) Insulation resistance test between conductors | ATelehl & ALY $dlelh gfeRier S

(D) Insulation resistance test between conductors and earth | Wt"q’ ﬂﬁ%ﬂﬁﬂﬁnﬂiﬁ
gfaRrer St

answer:A

Q.8 What is the permissible leakage current in domestic wiring installation? | Hiﬂamﬁ?T
TATIAT H 3eTHT RETa aiATeT &1 572

(A) 1/5 x Fuill load current | 1/5 x qoT HI 4RT

(B) 1/50 x Full load current | 1/50 x qoT $¥ &RT

(C) 1/500 x Full load current | 1/500 x qﬁ AT &7

(D) 1/5000 x Full load current | 1/5000 x E[U‘f AN 9T

answer:D

Q.9 Which formula is used to calculate the diversity factor? | fafaereT I[uTieh s IT0TAT et o
fore fre 1 &1 39T famam arar §72

(A) D|ver3|ty Factor = Maximum Load/Installed Load

(B) Diversity Factor = Installed load/Minimum load

(C) Diversity Factor = Minimum actual load/Installed load

(D) Diversity Factor = Installed load/Minimum actual load

answer:C

Q.10 Which instrument is used to test new domestic wiring installation? | Htfﬂ’lﬁ\a'l'qﬁﬁ
TATIAT T GLIETIT It o fIT fohd IYRIOT T 39ATIT AT SATAT 672

(A) Multimeter | #FedIHIET

(B) Megger | AR

(C) Shunt type ohmmeter | 27 Y& 315 Hrex

(D) Series type ohmmeter | H0ff YR 371 Hex

answer:B

Q.11 What is the type of test in the wiring installation? | aTIR3T TATIAT F T{I&TOT ST YhR FAT

(A) Polarity test | adr S
(B) open circuit test | Gerr a9 S



(C) Insulation resistance test between conductors | maaﬁéamwaﬁanﬁﬂvm
(D) Insulation resistance test between conductors and earth | CICCIR] A & FEY FdTelh
EIGRLS

answer:D

Q.12 Where system earthing is done? | f&¥es 31T Fgr fovar Sirar &7
(A) Generating station | STeIXTEdT TEIT

(B) Electroplating installation | ﬁa'qaﬁn?wmm

(C) Small industrial installation | zﬂé’raﬂaﬁﬁmqum

(D) Domestic wiring installation | EIQT»([G‘I’«’:IWT TYTYAT

answer:A

Q.13 What is the test to be carried out by using megger? | #IR T 3YITIT hich FAT GIETOT
foraT ST 82

(A) Polarity test | gadr S

(B) Insulation resistance test | FaTereh GfcRTer TaToT

(C) Earth electrode resistance test | Hg@ﬁ?mm

(D) Earth conductor continuity test | 8] =TeTeh IBEGEGIRCIG)

answer:B

Q.14 What is the reason of lamp glowing dim and motor running slow in a domestic wiring
circuit? | Bl aRET Gidhe 7 of T THeb A 3R AT LAY 1T & Wefel hI FAT HROT §?

(A) open circuit in the neutral line | gl TS Jfruon giRaer

(B) Short circuit between conductors | W C é’ﬁr ELEERES

(C) High value series resistance fault | ﬂmfﬂvﬁqﬁwaﬁw

(D) open circuit in the earth conductor | 8{\14?4“'6% aR A gell giaer

answer:C

Q.15 Which wiring installation the System earthing is to be done? | Rwes 31fder = fha
IrAfET TUT9AT & foIT fahr ST 872

(A) substations | 39ehg

(B) Godown wiring | 3T arafiar

(C) Domestic wiring | B arafer

(D) Commercial wiring | SaTaaTA% argiar

answer:A

Q.16 Which method of earth resistance measurement is illustrated? | ti%ﬁmﬂrqﬁ
it A fafr afaa g2



i
AN b A, ¥, L,
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(A) Fall of current | F€ T Ha glaT
(B) Fall of potential | fa31a &t gctet
(C) Current dividing | &TRT fa#TsTet
(D) Potential dividing | fa#1a faemrster
answer:B

Q.17 How to control harmonic distortions in neutral connections as per IE rule? | IE faga &
ITHR 3ERie HATST # gTAfToteh Taehfcial st & AT faar se?

(A) Earthing through impedance | m%mﬂﬂﬁm

(B) Providing by plate earthing | Tere 31T g@RT YT =

(C) Increasing conductor size | dTelsh T HThRX TGl

(D) Providing parallel earthing | ¥#TeaR 31fder &1

answer:A

Q.18 What is the function of current reverser in earth resistance tester? | 3rf gfaRier wires
# EIRT Scoheeh T HI FIAT §7

(A) Converts A.C. into D.C | T. 9. & 3I. @Y. & uRafdd #ar g

(B) Reverses the polarity of D.C | D.C &r ?Aﬂ’I'ZI?IT HrIccearg

(C) Changes D.C. supply into A.C supply | SRH 3t st vt 3mqf 7 Seerer

(D) Reverses the direction of rotation of the generator EIGEED EI@FT 1 feerm seeter
answer:C

Q.19 What is the advantage of stranded conductor over solid conductor? | 3T'<’3r 6‘(’ H3FeT Fl
O hseFed I Jolell H T BT 872

(A) Cost is less | AR A &

(B) More flexible | 31T erirerm

(C) Less voltage drop | &3 dlecel dTd

(D) More insulation resistance | 3T aTereh JfcRTY

answer:C

Q.20 How the earth resistance can be reduced? | g2dY & FicRIE T & e AT ST Hehell &2
(A) Providing double earthing | &g 3197 YeTeT 3T

(B) Reducing the pit depth for earthing | 31T & forT a5 ST ITES FeT HIAT

(C) Increasing the length of the electrodes | Seilereis FI TFaTS TGTeT

(D) Decreasing the length of the electrodes | SIS ST TFETS BT

answer:A




Q.21 What is the reason for supplying AC to the electrodes for measuring earth resistance? |
GEET GTCRIY &1 AT & [T Selerls &l THT shT 3Tl e ol FAT HROT 52

(A) Provide electrostatic shield | f&aX faegd 2fies Jeret &Y

(B) Protect the coils in the meter | e & Eh‘si?s?r Y TaTd T

(C) Reduce the value of current in the meter | #IeX :ﬁr RT hT AT "UCTAT

(D) Avoid the effect of electrolytic emf interference | faegd 3rqaea faar et T ger=T
answer:D

Q.22 Why the pointer is not stable at zero on the scale as the megger is not in use? | #IR
3T # 7€ &, TR o it s AT o R e At 7

(A) Itis not having controlling Torque | & TTEOT T AT ET X ET &

(B) Provided with air friction damping | aT &/¥0T 3f&qaT yere &hr

(C) The deflecting torque is directly proportional to the current | farefel STTe[oT &RT &
AT &

(D) The deflecting torque is directly proportional to the square of the current | fa@reret H@ITEWT
RT3 7 & FATAT & |

answer:A

Q.23 which is proportional for the deflection of ohmmeter needle in earth resistance tester? |
gt gferrer adieren 3 siteeiet g3 & feiaor s aeafas 82

(A) Current in current coil | aRT a%?»?r ARy

(B) current in potential coil | frsra el 3 aRT

(C) speed of the handle rotation | %zruvﬁ?ra?mﬁr

(D) Ratio of the current in two coils | & i%ﬁ»l’q’f H R T 3T

answer:D

Q.24 Which principle the earth resistance tester works? | E‘r_%?ﬁ gfaRrer adiete foha ﬁ'dﬁl’l?r T
HIH AT 672

(A) Self induction | ¥ 9RoT

(B) Mutual induction | 3/=a1=g 90T

(C) Fall of potential method | fa%ta grer fafer

(D) Fleming's left hand rule | FelfH3T ST aTT 81T &7 fAT#

answer:C

Q.25 Why system earthing is different in utilization than equipment earthing? | 39erorT 37fear
hT Jofett 3 TorEea 311t 3rerar a7t £2

(A) It protects human only | g ¥aer HTSAT T T&TT Il &

(B) It protects from all circuit faults | Tg el AR et & ST d

(C) It is associated with current carrying conductors | I8 YRT dTgeh ATelehl & TIETAT &

(D) It is connected to the non current carrying metal work | Ig 3 &RT aTgeh T3t & HFRIT
£"], answer:C



Q.26 What is the effect if a person receives a shock current of 20 mA? | Ife Y safFa &1
20 mA IR T STChT UTCd Il & af T JHTT ISdT &2

(A) No sensation | SIS HAGT Tt

(B) Painful shock | &&aATeh STeehT

(C) Heart convulsions | & 3Tdrd

(D) Become unconscious | Sgrer gleir

answer:B

Q.27 Which electrical equipment L series type MCB's are used? | MCB %ﬁw—aﬁag?r
39eoT| Aoft &1 39T foRaT STdT 82

(A) Geysers | M=

(B) Locomotives | elleprAlea

(C) Halogen lamps | gailete o

(D) Air conditioners | T3R {32

answer:A

Q.28 What is the megger reading in a dead short wiring installation? | 33 argramﬁw
STl 3 AIR T UG T&T &7

(A) OMW

(B) 1 MW

(C) 500 MW

(D) Infinity | 377

answer:A

Q.29 What is the advantage of crimping? | Thf&IeT & &1 ®IICET 872
(A) Gives neat appearance | AT T 9 Sarg

(B) Reduce load current | TR &RT & &Y

(C) Avoid loose connections | @rel TdTSTsil el CTelel]

(D) Easy to replace | 31T & Scolell

answer:C

Module-10: 9&Ica

Q.1 What is the S.I. unit of luminous intensity? | SEICTHTA TdT ShT SIS FAT &7
(A) Lux | ole"

(B) Lumen | og&eT

(C) Candela | e

(D) Steradian | ®f3TaT

answer:C

Q.2 What is the working temperature of filament lamp? | &c] o T SRIHRT ATGHATET fehet=ir
glaTg?



(A) 1500°C
(B) 1800°C
(C) 2000°C
(D) 2300°C
answer:D

Q.3 Which material is coated in tungsten electrode of a fluorescent tube lamp? | FaRIEE
TS I 3 EarEe Saiarals @l fond gerd & oI e ST 82

(A) Silver oxide | feaT 3183

(B) Phosphor powder | BIEHh 91387

(C) Fluorescent powder | FaRIHE 913837

(D) Barium and strontium oxide | SRT# qar TEfRge 3iFaEs

answer:D

Q.4 Which position MB type high pressure mercury vapor lamps are operated? | MB Y& &
3o 19 YRT arsq o ford Feufa & ganferd fond sira 87

(A) Vertical | ¥aTex

(B) Inclined | SIepT §31T

(C) Horizontal |

(D) Any position | 15 &ff fFEufa

answer:D

Q.5 What is the function of leak transformer in high pressure sodium vapor lamp circuit? |
3T &I WTSTA arsy of T IRIY 7 ek TABIAR T FAT 1 g2

(A) Reduce the starting current | T&TTEaT FC T TETAT

(B) Reduce the working voltage | RISRT dlecsT I Tl

(C) Increase the working voltage | SIS dlecsT Fl ST

(D) Ignite the high voltage initially | 98T & 3T dlecs I ol

answer:D

Q.6 How stroboscopic effect in industrial twin tube light fitting is reduced? | @ge fhfcar &
TR JHTT F& FH 8dr 872

(A) Connecting capacitor parallel to supply | TR &l 3Tqfc & HATeeR H HAITS el

(B) Connecting capacitor in series with supply || TR &1 3Tfct & Aot 7 TS HEr

(C) Connecting capacitor in series with one tube light | HUTRH & Teh cgeelTse & A0 H
AT AT

(D) Connecting two capacitors in series to each tube light | HETRE &I Yl TFaeTge o A0
H G LT

answer:C

Q.7 What is the current carrying capacity of flasher, if the current is 100 mA in each row? ||

Fol?R Y IAHTT gt &THdT T 8, Tfe I Gfard & e 100 mA &7
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(A) 50 mA
(B) 100mA
(C) 200 mA
(D) 300 mA
answer:D

Q.8 Which term refers that the flow of light into a plane surface? | T#de Tdg H THIA &
JATg I hieT AT G TG P 872

(A) Lumen | 8T

(B) llluminance | SeffA=id

(C) Luminous flux | 9H®ER Ydlg

(D) Luminous intensity | TG diedr

answer:B

Q.9 What is the purpose of ignitor in high pressure sodium vapor lamp circuit? | 3Td g&1d
AIf$T# arq ofq Afche 7 RITRY &7 aTel T 3663T FAT §2

(A) Decreases the starting current | 3R ¢IRT &I geTdT &

(B) Increases the running voltage | @eT 3§ alecsl &l F&IAT §

(C) Decreases the running current | @el Tg I I TTdT &

(D) Generates high voltage pulse at starting | & #el T 3T dlocsl Tod Scdeed HLAT 8
answer:D

Q.10 Which type of light fitting design has free from glare? | foh& YR T gahrer fhfcar
f3SiTgeT Trehriter & Herc 872

(A) Semi direct type | 378 YT YR

(B) Semi indirect type | 3787 3T9cTeT ehIX

(C) Direct lighting type | 9c&T YhIA Th X

(D) Indirect lighting type | 3T9cT&T YhIRN HhR

answer:B

Q.11 Why the outer tube of a high pressure metal halide lamp made of boro silicate glass? |
3T 19 4T §elTgs of T B STl g9 IRy FAfeieshe Toma & st giell &7

(A) Increase the lighting effect | IehIRT IHTT deTT

(B) Withstand heavy temperature | #RT ATIHTT T TgeT hY

(C) Withstand atmospheric pressure | aIHS T SaTd T Tgel Y

(D) Reduce the ultra violet radiation from lamp | &fT & RIS TAT TATHRIUT T HeT HY



answer:D

Q.12 What is the term refers luminous flux given by light source per unit solid angle? | 9
AT I 10T T YehTel W SN &Y 3T THHGR FaTE T FAT g 872

(A) Lumen | 8T

(B) Candela | esal

(C) luminance | 3eIfA=Id

(D) Luminous intensity | THRGR dtadr

answer:D

Q.13 What is the unit of luminous flux? | THHER TaTg T SHIS FAT &2
(A) Lux | olr"

(B) Lumen | AT

(C) Candela | SheselT

(D) Lumen/m | of&T / &Y

answer:B

Q.14 What is the unit of luminous efficiency? | THHER E&TT ST SIS FAT &7
(A) Lux | olr"

(B) Lumen | oA«

(C) Lumen/m | of&T / &Y

(D) Lumen/watt | o[#=T / AT

answer:D

Q.15 How the rate of evaporation in a vacuum bulb is reduced? | E\Wﬁwﬁmﬁ
X e A gIeil 872

(A) Filling inert gas | 31fsha 3T 81T

(B) Producing arc in bulb | Sies 3 3116 T 3cdTeed

(C) Reducing filament resistance | cc FTcRIT &I & LT

(D) Increasing filament resistance | ] JTcRIEr SGr=IT

answer:A

Q.16 What is the main advantage of coiled coil lamp? | Fsferc $3ell ofd T FTT o7 4T &7
(A) High melting point | 3= 9TellTeh

(B) Higher light output | 3= 9h1eT 3c9TgeT

(C) Low operating voltage | &H H>dTels] dlecol

(D) Low power consumption | & farsTell shl W

answer:B

Q.17 What is the name of the reflector? | TRTacieh T AT T &2



(A) Mirror type | &U0T YR

(B) Soft light type | sTXH FhIM HhX
(C) Parabolic type | TRaclTaeh TR
(D) Dispersive type | %l aTell 9ok
answer:C

Q.18 What is the name of light? | JehT2T ST T3 FIT &2

A) Spot light

B) Bulk light | facer Trereir
C) Flood light | &FefS ollsC
D) Flash light | TFeler aIise

answer:A

—~ A~~~

Q.19 Which device provides ignition voltage and act as choke in a HPSV lamp? | isT @1
39huT R alec st UeTe HiaT § 3R T tadivgdr &9e & e & &9 H T Hidr 82
(A) Arc tube | 31T <&

(B) Sodium vapor | GifsT# arsq

(C) Leak transformer | RETa grA®RR

(D) High pressure aluminum oxide | 3 gaTd Teg#aa# 3ifedrss

answer:C

Q.20 What is the name of lamp? | & T AT FT §7?

(A) MAT type MV lamp | MAT 9&R MV o9

(B) HP metal halide lamp | TadY &7 gll$s o
(C) MB type HPMV lamp | MB 9&R HPMV &9e
(D) MA type HPMV lamp | MA &R HPMV &r9e
answer:D



Q.21 Which type of lighting system is used for flood and industrial lighting? | FeT8 3k
3eafarer genter caEdT & foIw fohd TR ST YhTRr STaET T 3919 fohaT SITaT 872

(A) Direct lighting | FcJ&T YahreT

(B) Indirect lighting | 3T9cJ&T Hh1eT

(C) Semi-direct lighting | 3TeT-Scar&T JehTer

(D) Semi-indirect lighting | 3T¢T-319cZr8T JehTer

answer:A

Q.22 Which type of lighting system is used for flood and industrial lighting? | Fef3 3iR
3R genter ST & foIT fohd TehR ShT YhTRT STTEAT AT 3TN fohaT SITam 872

(A) Direct lighting | FcJ&T b1l

(B) Indirect lighting | 3TIcT&T Fh1r

(C) Semi-direct lighting | 37eT-ScareT JemTer

(D) Semi-indirect lighting | 37¢T-3T5cT&T Jehrer

answer:A

Q.23 Which is the cold cathode lamp? | #Ie8 HATS o7 HiT ATE?
(A) Halogen lamp | geilelel o9

(B) Neon sign lamp | s\l Tehel &I9eh

(C) Fluorescent lamp | FelRIHT o

(D) Mercury vapor lamp | 9RT arsq ofq

answer:B

Module-11: ATIh IJF

Q.1 Which force is required to move the pointer from zero position in an indicating
instrument? || Teh Hehcleh YT H UISeT 1 e FUTT T FAATAR el & [T fohd oot
HTILTRAT Bl 872

(A) Controlling force | &eT &I AT T

(B) Deflecting force | farefet e

(C) Air friction damping | AT E§UT FHee

(D) Eddy current damping | #aX YRT AceT

answer:B

Q.2 Which is the position to use the instrument provided with gravity control? | WUT
fg7oT & AT e foRT 37T 3YHIOT T 3TATT e Fr T ler v g2

(A) Any position | fordT off eafa &

(B) Vertical position | FtaTer fEufa

(C) Inclined position | g7t g3 TEufd

(D) Horizontal position | &ifdet feufy

answer:B

Q.3 What is the name of the scale? | HTY &7 ATH FT &2



(A) Linear scale | ¥f@s daT=t

(B) Coarse scale | #l¢ 3HT W

(C) Extended scale | fa&ariRa SAm=T
) Non-linear scale | 3R-X@T AT

(D
answer:D

Q.4 Which error is caused by the incorrect position of instrument reading? | 3¥g#c JfSar T
el &t & SROT T 4T e gl &2

(A) Device error | 30T 3fe

(B) Human error | #TeTa I

(C) Influence error | Je7Td I

(D) Switching error | f&af=rer Jfe

answer:A

Q.5 Which instrument is used to measure one ohm and below one ohm resistance value
accurately? | Teh 311 3R Teh 30 & =i GToRIY AT I AT o oI fovd 3uenior &1 39ter
o STar g2

(A) Megohm meter | FaTT 31T HeX

(B) Multimeter (analog) | HeCIHET (TATHTT)

(C) Shunt type ohm meter | 2 €189 31H HeX

(D) Series type ohm meter | @Il Y& 31 FHex

answer:C

Q.6 What is the purpose of the 3rd terminal provided in a advanced megohm meter? | 3oaid
AIMINEH HIeT F YT fhT 7T rav faY &1 3ec &1 82

(A) Get higher ohmic values | 3Ta 31ifAe AT Ired &Y

(B) Pass the excess voltage to ground | 31faRed dlecst AT W 91T Y

(C) Pass the excess current to ground | 3faRerel &RT ST#1eT & STolel 8]

(D) Get accurate readings without oscillation | grelet & TaT TETH QT v Y

answer:D

Q.7 What is the name of the shunt resistance material? | 27 YTaRIeT AT T AT FT &2



(A) Copper | &t
(B) Eureka | JYehr
(C) Nichrome | ATSshIA
) Manganin | #«amfaist

(D
answer:D

Q.8 What is the reason for the moving coil meter having uniform scale? | Tel H3ell Hlel &
Teh AT YAT IX gled T AT HIROT 572

(A) Deflecting torque is directly proportional to the current | fa@reret aT»ITEI'U‘r HRT & 3ﬂF|'C|T1?-IE g
(B) Deflecting torque is inversely proportional to the current | ﬁﬂﬂﬂaﬂmﬂ‘r YRT
—qao‘mﬂm?—ﬁ & (C) Deflecting torque is inversely proportional to the square of the current |
fererereT ar»rrsrU‘r YR & T & SGhATITC &

(D) Deflectlng torque is dlrectly proportlonal to the square of the current | fa@relst aT»ITEI'U‘r T
& T & AT &

answer:A

Q.9 Which error if the energy meter disc rotating continuously on no load? | If& FaiT #ex
f3eeh =TT fohdll Sils & SR gaAc & o ler 4 3fe 87

(A) Speed error | 3T T Ffe

.(B) Phase error | <‘=h_<~ITE|ﬁE

(C) Friction error | Tor e

(D) Creeping error | T EL

answer:D

Q.10 What is the effect on CT if its secondary is kept open? | afe HIEY &1 gfaciae gerr @
ST & Y 3T U T Y3719 USAT 87

(A) CT primary burns out | CT &Y I $sell Siel STeai

(B) Volt ampere capacity reduces | alec TR GTHCT A g

(C) Volt ampere capacity increases | diec TFIIIR &THAT 8¢ Sildl &

(D) CT secondary winding burns out | CT & gfaciieh 3ell STef STt

answer:D

Q.11 What is the purpose of variable resistor connected across shunt type ohm meter? | 2/
YR 3NEH HieX @ 513 aRadl IfoRier 1 ey #ar g2
(A) Avoid draining of battery | 3 T foRrde= & &=



(B) Minimize the error in reading | IT&aTe H f& &I Fa &Y
(C) Adjust the current to safe value | EJRTEI#HT@IFT AT R FAIST Y
(D) Adjust the pointer to zero adjustment | tﬂBET I T HATIISTT H HATIITSTT Y

answer:D

Q.12 Which material is used to make control spring in measuring instruments? | #TqsT aTel
39ROl H fAIF0T T3 §a71a & fore v arerelt &1 393197 fohar Srar g7
(A) Steel | TITd
B) Silver | T
(C) Tinned copper | Wé e g3 GIC
(D) Phosphor bronze | BIEHT @n—cr
answer:D

Q.13 Which electrical effect that the single phase energy meter works? | Tehel TRUT Fail HIeT
FleT ¥ faege TG I HIH T §7

(A) Heating effect | AT T

(B) Induction effect | S0T T

(C) Chemical effect | TATATIH YT

(D) Electrostatic effect | 2R faege werma

answer:B

Q.14 Which position an instrument using fluid friction damping reads accurately? | g& &oT
TRINAT T 3T A T Teh 39T Fohey AT F TEF T & Tgar 82

(A) Any position | fordT off Reufa &

(B) Vertical position only | Sael FeaTer &afa

(C) Inclined position only | sael S7ehT g8 Fufa

(D) Horizontal position only | &aer &ifdet feufay

answer:A

Q.15 What is the name of meter? | #ex T AT FAT§?

/

(A) AC multirange ammeter | T8I AeEINST THIEI
(B) DC multirange voltmeter | 3T FeeoT dlecHel
(

C) AC and DC multirange ammeter | T 31X 3T AT Teex

(D) AC and DC multirange voltmeter | T&Y 3iX 1T HAeci{oT dlecHIeS
answer:B



Q.16 Which instrument is an example of an integrating instrument? | slsT AT 3ThTTT Tehlehcl
3YhIUT T Teh 3GTEI 0T g2

(A) AC Voltmeter | THT diecale

(B) DC Voltmeter | S1HT dlecaiel

(C) Energy meter | 34T Hex

(D) Tangent galvanometer | TFR@ET dedaitdlex

answer:D

Q.17 How the creeping error is controlled in energy meter? | Zsit #leX # a1t &I Jfe @I A
AT forar Sirar g2

(A) By reducing rated voltage | 3¢8 alecst I e Hih

(B) By increasing the inductive load | 90T HX &l TGTHT

(C) By adjusting the brake magnet position | e Ysieh T FEufd T FARATST Hleh

(D) By drilling two holes diametrically opposite on disc | f3&% W &t 8¢ 3o =@ & T
answer:D

Q.18 Why the scale of the moving iron instrument is having un-uniform scale? | el dlig TR
YT T FHATAT ITHATST FAT gIel 672

(A) Deflecting force is directly proportional to the Current | fareleT S/ef, €RT & FHTATCT &Il &
(B) Deflecting force is inversely proportional to the Current | fa=refsl SelreoT &_T &

SGesh AT &

(C) Deflection of force is directly proportional to the square of the current | fa@releT /df, &TRT &
3 o FHTITCH BT &

(D) Deflection force is inversely proportional to the square of the current | Ta@relsT &eT, &TRT &
I & Y cshATIITAT BIcl &

answer:C

Q.19 Which source of measuring error is caused by the effect of magnetic fields? | Eﬁﬁ'&
1 3 T ¥ 0T AT Y et A 7R @ 22

(A) Device error | fSarsa I

(B) Human error | AT J

(C) Influence error | Je7d I

(D) Switching error | fEafrar Ffe

answer:C

Q.20 Which type of wattmeter? | fh& IR T dTcHIE 872
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(A) Three element 4 wire wattmeter | el 3/ddd 4 AR AICHICT

(B) Two element 3 phase wattmeter | &I 3/ddd 3 FHell AICHIEI

(C) Three element 3 phase wattmeter | dleT 3/ddd 3 TRUT AICHICT

(D) Three phase two element with C.T & P.T | fieT TRUT &I 371a4d C.T & P.T & &1y
answer:B

Q.21 Which type of instrument is used with air friction damping? | Th& YR & 3UhOT ST
39TeT ag B¥oT STFYIT & A1y T ST 87

(A) Moving coil instrument | =T F3ell 3TsHOT

(B) Moving iron instrument | Tef olig 39ehioT

(C) Induction type instrument | 90T YehIX 3YEHIOT

(D) Dynamo meter type instrument | SIITAT HIET YehX 3THIOT

answer:B

Q.22 Which type of energy meter works with neutral connection? | 3&TETeT TAToTe fohdl TP
& FolT HeT & TATY FHIH AT 8?2

(A) Three phase two element | el el &l 37aad

(B) Three phase three element | dieT FelT dieT 37aT4

(C) Single phase single element | Tehel dIUT TUehel AT

(D) Three phase two element with CT & PT | &@Yer 3R dIY & @1 il hell af 31aad
answer:C

Q.23 What is the type of frequency meter? || 34Taﬁr HreT FT PR FATE?



(A) Weston type | dE€csT YehiX

(B) Ratio meter type | 3feJqTcT #HIeX JhR

(C) Electro dynamic type MECRRERCIGEREN

(D) Mechanical resonance type | WWW
answer:D

Q.24 What is the unit of sensitivity in instruments? | I3t & TAeALNIdT T SHTS FAT §?
(A) Volt/ohm | @tee / 301#

(B) Ohm/volt | 35T / atee

(C) Ohm metre | 37185 Hiex

(D) Ohm/metre | 301# / X

answer:B

Q.25 Why two straight holes are provided in the aluminium disc in energy meter? | F<iT #Hlex
A vegAfarad fSEh A &Y e B¢ a1 Jere fohw Sid 872

(A) To reduce the disc weight | 3% & gt I d FIA & oI

(B) For power factor correction | 2IfeFcT I[0Tieh FER & ferw

(C) To prevent the flux leakage | Ferer e e 1 et & farw

(D) To arrest the creeping error | 33Tet I FfE T Akt o forw

answer:D

Q.26 What is the name of the instrument? | I T AT FIT §7?

(A) Absolute instrument | Tedley IS 39ehI0T
(B) Indicating instrument | Eehcieh 3UHTOT



(C) Recording instrument | RepifSar 3uehoT
(D) Integrating instrument | uq'w\le(r_’d 39hU]
answer:A

Q.27 Why damping force is required in a moving coil instrument? | Tel 3ol 3qH0T H SfEdar
ol FIT 3R g2

(A) Makes the needle movement faster | g5 I aTf & doT FIAT &

(B) Helps the deflecting force to act fast | TererereT 5ol 1 QYo7 & 2 et 3 FHeg AT &

(C) Brings the needle to its zero position | S T 3THT =T T F AT &

(D) Arrests the needle without oscillations | Glef=it & 4T g$ &l i f3d e &

answer:D

Q.28 What is the function of soft iron core in a moving coil instrument? | Tel F3ell 30T H
XA g o IS T FIT I g7

(A) Strengthens the deflection force | Ta&TTUT &l &I HaTeT T &

(B) Controls the needle's movement | S & aTfdl T fagfd aear g

(C) Provides meter with maximum sensitivity | FTeX @I 31 TdgaiTerdr el HIdTl &
(D) Provide uniform distribution of magnetic flux in air gap | TR 39 & YhrT FeleFd HT Teh
HATH TIROT &Ll

answer:D

Q.29 Which parameter is the cause for loading effect on measuring instruments? | #TIe& It
R ST IHTG T HROT Hled AT WA 872

(A) Low accuracy | & HErhdr

(B) High sensitivity | 3T TagaTeirer

(C) Low sensitivity | e TdgeTefierar

(D) Low influence error | & &1 I

answer:C

Q.30 Name the type of instrument. | I T TR AT |

(A) Attraction type moving iron | 3TehYOT Y& Tl dilg

(B) Repulsion type moving iron | 9faehsoT YR ol clig

(C) Permanent magnet moving coil | TUTA Tseh TTeTl el

(D) Dynamo meter type moving coil | WWWW
answer:A



Q.31 Which meter is used to measure revolution per minute of a motor? | H’IET%EI;U#TQ‘%
AT &l ATTS & ToIT fohd Hie &1 39T fohaT ST 572

(A) Tachometer | ¢ehIHTEX

(B) Energy meter | 31T #Hex

(C) Ampere hour meter | T&dIX g¢ Hex

(D) Centre zero ammeter | [T e THIEX

answer:A

Q.32 How to identify the moving iron type instrument? | Tl olig TehR & 3YIUT I YgdTel Har
H?

(A) No terminal marking | 1§ f&RT 37ehel T&T

(B) Terminal marked (+) only | shael g (+) AR

(C) One terminal coloured red | @Tel 3T T Teh FART

(D) Terminal marked (+) and (-) | effaar RfEAT (+) 311 ()

answer:A

Q.33 Which is an absolute instrument? | Teh &9 39eRI0T it AT 5?2
(A) Ammeter | THICI

(B) Volt meter | e #Hiex

(C) Energy meter | FaiT #TUY

(D) Tangent galvanometer | TIR@T redaieex

answer:D

Q.34 Which force produces movement of pointer in an indicating instrument? | $iT @1 98 Th
Heheleh 3UT 7 FeIeh Y 1Tt YT T 82

(A) Damping force | Fge deT

(B) Deflecting force | fareteT e

(C) Repulsion force | Ifaeryor s/er

(D) Controlling force | faa=oT st

answer:B

Q.35 What is the function of integrating instrument? | k'chlchd 3YHIOT T FAT T 872
(A) Displays the quantity | FTIT T fRId aT &

(B) Indicates the quantity | HTIT T Hahd ST &

(C) Registers the quantity | HTIT & ol T &

(D) Measures the quantity | FTAT I ATTAT

answer:C

Q.36 Which position an instrument using gravity control reads accurately? | WW
fATTOT T ITANT F AT Teh 3USROT o AT 7 T8 &7 § ygdr &2

(A) Any position | foraY off Rafa &

(B) Vertical position | FtaTer feafa

(C) Inclined position | 37T §$ &ty

(D) Horizontal position | &1t ferfar

answer:B



Q.37 Which quantity is measured by an electrodynamo type instrument? | Teh SclareISITATAT
IR & 3THUT GaRT fohd HTAT ST ATIT SATdT 572

(A) Power | e

(B) Current | &_T

(C) voltage | drecsT

(D) Resistance | gfaRTer

answer:A

Q. 38 How to achieve maximum accuracy in measurement using analog instrument? |
TATATIT SEEHT T SUTNIT F¥ch AT H 31TARIH TEIhdT hdy UTed HL?

(A) Keep low input impedance | %# SeT9e TiciaTer 38

(B) Keep high input impedance | 3T 3TeTd JfasTerm 3@

(C) Use short connecting leads | BIET dhaifaredr ol T 3UAET Y

(D) Provide correct damping system | TgT #aT JOTTell TGTel hall

answer:B

Module-12: Ee] 3901

Q.1 Which material is used to make heating element? | 81f¢aT dca ST & oI fhe el &1
3997 foRaT SATaT 872

(A) Silver | TTér

(B) Copper | arar

(C) Nichrome | ATSshIA
(D) Aluminium | TegfAfags

answer:C

Q.2 What is the name of the part of electric iron? | fdeg e ST o 1T &7 AT 4T &2

(A) Sole plate | YT Toie

(B) Pressure plate | g&Td Telc

(C) Mica insulation | 3187eh SdTelsh
D) Asbestos sheet | T&Fa¥eH HT

(
answer:A



Q.3 What is the function of stirrer motor in microwave oven? | #gshidd 3del # e AlX
T I FIT 872

(A) Draws cooling air inside | 376X &3r gaT Wradr

(B) Spreads the heat uniformly | FSAT T AT T & helldT §

(C) Exhausts the hot air outside | 35T 4T &t 18T [ASTeIdT &

(D) Revolves and reflects the electromagnetic energy | EFdT & 3R fdegd gFaehlr Sl @t
Z2ITar § answer:D

Q.4 What is the purpose of U bend marked as X in geyser? | 3o # g &5 &7 &1 36627 &,
S x & & H Rafeed g2
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(A) Prevents draining of water | 9T=ir T foehrT &l el &

(B) Avoids the forming of scales | Thel & Selel & & SITAT &

(C) Reduces the pressure of outlet pipe | fa3Td 18T & gaTd &Y 3 FAT &

(D) Restricts the air locking inside the tank | & & 378X &aT & i bl IfdaTSd FAT &
answer:A

Q.5 Which type of A.C single phase motor is used in food mixer? | @ed fAFET H g YR
&1 A.C Tehol thal AT T 3YTIT fohdT STAT §2

(A) Universal motor | gfaa¥e AT (B) Repulsion motor | Hfcersor Hlex

(C) Split phase motor | fEcere Hhet Al

(D) Shaded pole motor | 38 Glel Al

answer:A

Q.6 Which is the position for maximum output of the heater? | g1eX & 31f&ads faeTd & fow
el T TUTH 872



o 1

1 2 3 4

(A) Position 1 | Feafa 1
(B) Position 2 | fEufa 2
(C) Position 3 | &afa 3
D) Position 4 | T 4

(
answer:B

Q.7 Which formula is used to calculate the heat generated as per Joules law? | 313351?-1?1??
o HTAR 3ceof ITHT T ITUTAT et o TN fohedt T T 3TN fhaT STl 82

(A) Heat generated = IRT / J cal 3c9eeT FSAT = IRT /keholIRT

(B) Heat generated = |2RT /Jcal | 3c9ool 3SHT |2RT /Jcal

(C) Heat generated = IR2T/Jcal | 3¢9 3AT IR2T/Jcal

(D) Heat generated = (IR)2 T/Jcal | 3c9e<1 3°HAT (IR)2 T/Jcal

answer:B

Q.8 Calculate the heat generated in a electric heater of 1000 watt, 240 volt, worked for 5
minutes? | 1000 dTe, 240 diee & fdegd §1eX H Scuest 1T 1 0T Y, el A 5 fAeTe & fow
FI Thar?

(A) 70.5 kilo calories | 70.5 fraY SheliY

(B) 71.0 Kilo calories | 71.0 forell el

(C) 71.6 Kilo calories | 71.6 et ey

(D) 72.1 Kilo calories | 72.1 e ey

answer:C

Q.9 What is the purpose of protection grooves at various places in a heater base plate? |
gIeY 9 Tole & faffieeT TUT=l 9 GI&T Wi T 3ee e T

(A) Radiate the heat properly | AT @F & & fapRa Y

(B) Retain the heating element firmly | FsHT 37949 & T6dT ¥ W

(C) Place the vessels firmly on heater plate | G731 & §1e &l Tole W Halecll & I

(D) Protect the heating element from damage | 83T 3IaTd &1 AT J FAT

answer:B

Q.10 What is the purpose of sole plate in electric kettle? | faege el # el Tl HT 3ceT
T

(A) Acts as a balancing weight | Teh Tcelel dsfel o &9 H R Il &

(B) Acts as an insulator for element | 3{add & fIT Ueh FHaTeleh o §9 H 1 T &



(C) Protect the kettle base from damage | Sclell S I TehdTeT & T
(D) Keep the element in close contact with container | 37T P e & Tvehe T @
answer:D

Q.11 What is the magnetron tube filament voltage used in microwave oven? | ATSshidd HideT
# Y Haoiglol TS fhermaie dledst 1 87

(A)1.5VA.C

(B)2.0VA.C

(C)3.0VA.C

(D)3.2VA.C

answer:D

Q.12 What is the fault in a food mixer if it runs intermittently? | $-%e X Teled T s Aoz
H g7 EET 872

(A) Worn out brushes | eT 831T SIRT

(B) Armature coil open | mmaﬁr

(C) Defective commutator | a’mv‘ram:lw

(D) Field winding partially short | av a%?»?r 3TTRIF T F LI

answer:A

Q.13 What is the defect in a single phase pump motor if it runs with slow speed? | Tehel hell
99 Al H &IV 47 §, AT Ig et a1fay & Trorar g2

(A) Defective capacitor | aryquT Femiy

(B) Open starting winding | E?»?f&'lg%ﬂ

(C) Short in starting winding | Terféar argfear # ergufd

(D) Short in running winding | Tﬁ?TaE%?TﬁﬂaﬂfﬂH

answer:A

Q.14 What is the function of neutral path in AC supply system for appliances? | 39eUli &
fore Tl 3t Jorrel # Serefier g &1 4T 82

(A) Provides current return path | &TRT aTadT 92T YeTe T &

(B) Provides level constant | dieesT TR fER WeT FXdT &

(C) Reduces voltage drop in wiring | aTIaT 7 dlecsT 319 &l &hal T &

(D) Maintains load current constant | R &TRT T T9ad I@dT &

answer:A

Q.15 What is the function of magnetron tube in a microwave oven? | ATSshIdd 3fided &
AIACT TS T FAT H1Y §?

(A) Amplifies the microwave signal #ATSshIad [&aeTel I FTEIdT &

(B) Changes the polarity every half cycle | 83 31Te =rsh & gfadr W‘cﬁ g

(C) Oscillate and produce cooking frequency | greret 3iX ulaﬂ Tl @rsﬂaﬁrws—cna?r

(D) Converts microwave energy to electrical energy | #TSshIAT FaiT &t ﬁ'd'zlﬁ ot & gRafda
AT &




answer:C

Q.16 Which type of motor is used in the wet grinder? | 3frer TerhT 7 fhT ThIX T A &1
39T foRaT ST 872

(A) Universal motor | gfeta¥ier Al

(B) Repulsion motor | 9TciehyuT HIeX

(C) Capacitor start induction run motor | $af8eI TeTE 3T IoT Al

(D) Capacitor start capacitor run motor | UTex TEI¢ FATHEX T Al TGTeT T &
answer:C

Q.17 What is the name of the circuit? | Tféhe T AT FIT §?

h 1] T
CATH ETEE
YT W
SHAOLE 100 KR ¥ . 4]

PHASE AT

o _|_ I

(A) Electronic fan regulator | Selereiiaieh 9@T fAames

(B) Electronic voltage multiplier / Selergifeieh dlesT 0Teh

(C) Electronic voltage stabilizer | Selaeifaieh dleeol TETABR

(D) Electronic triggering circuit of SCR | SCR &I Salareifaieh [¢IR Tfdhe
answer:A

Module-13: CIABIHT

Q.1 Which type of transformer is used for high frequency application? | BWHIEI‘_‘% 34?:ID'§I'€I’I?T
& foIT 5T YR & THABRR T 3TAT fohar ST &2

(A) Ring core transformer | R3T R TrAHER

(B) Ferrite core transformer [TTS€ X TAHIEAR

(C) Silicon steel core transformer | fAfoiaT T PR TTHRR

(D) Grain oriented core transformer | IaT 37 R ZHABER

answer:B

Q.2 What is the relationship between primary voltage (E1, V1) and secondary voltage (E2,

V2) in a ideal transformer? | Teh 31TGeT TRABER H WrAfA® dlecs (E1, V1) 3R areafas
drecsl E2, V2) & o o7 9y g7



(A) E1= V1 and E2 = V2
(B) E1> V1 and E2 > V2
(C)E1<V1and E2 < V2

(D) E1 = V2 and E2 = V1
answer:A
Q.3 What is the function of conservator in transformer? | TAHIFAR H FHoRdeX FT 1Y FIT &2

(A) Prevents the moisture entry | &Y & 932 &l Uehcll g

(B) Transfers the heat to atmosphere | qlquSc»i H AT FI TUAART HAT &

(C) Allows to release internal pressure | 3R eara OIS T 3TAT ST &

(D) Allows expansion of oil level due to load variation | &5 fieoTalT & PHRUT el T & I€aR
T Al a8

answer:D

Q.4 Which loss of transformer is determined by short circuit test? | 2T¢ Hfdhe TFC garT
B o ford &Tfet o TRt foRa rar &2

(A) Copper loss | dT gTfeT

(B) Windage loss |[arg g1ft

(C) Hysteresis loss | HIG
(D) Eddy current loss | $7a¥ 9RT gTfeT
answer:A

Q.5 Calculate the voltage regulation in percentage of the transformer if the no load voltage is
240 volt and full load voltage is 220 volt? || TEAHEFR H dlecsl & Ufaerd fafags s $r ot
&Y, TG YT AR dlect 240 dlec § 3R o7 AR areest 220 diee &2

(A)7.2%

(B) 8.3 %

(C)8.71%

(D) 9.09%

answer:D

Q.6 What is the purpose of using laminated core in transformer? | ZFHBHAT # gehs Tohs H
I T ITANT A T 32T FAT §7?

(A) Reduce copper loss | T gTfal &I & HYT

(B) Reduce hysteresis loss | REcRET g1t & s Y



(C) Reduce mechanical loss | Tif3e &1fa & & &Y
(D) Reduce eddy current loss | #a¥ YRT gl I FHe el

answer:D
Q.7 What is the cooling method of transformer? | SrE®TER I et fafer T &2
[ ]
B G
e
R A
s Y Py
E

A) Oil natural cooling | ¥ STehfdieh 38T

B) Qil natural air forced cooling | Tl STehfcieh gaT Sfeld &7 LT
C) Oil forced air forced cooling | ool Sfeid gaT Sfeld 33T el

D) Oil natural water forced cooling | el YTehfcieh dTet SfeleT ST
answer:A

—_~ A~~~

Q.8 What is the condition for obtaining maximum efficiency from transformer? | TEHEEAR &
3TTHAH E&TdT WTed hlal & folT T T §7

(A) Copper loss > Iron loss | dTeT gTfer> diig g1fat

(B) Copper loss < Iron loss | a1 gTfei< <lig g1fer

(C) Copper loss = Iron loss | T3 g1fai= @ilg gTfeT

(D) Copper loss =Eddy current loss | dT3 gTfeT $7a¥ 9RT gTfeY

answer:C

Q.9 What is the function of top float switch of buchholz relay in transformer? | TEHRFR 7
qatest Rel & Y treile & & e &1 872

(A) Activate in moisture presence | sTHT &1 3UTEATT 7 TfhT HY

(B) Activate at overloading condition | 31fa#R $r Tufa & afsra F¥

(C) Activate at open circuit condition | Gel Hishe 1 Tl # Afshd Y

(D) Activate at high temperature condition | 3Td dT9ATeT T T # Gfeha &L

answer:B

Q.10 Why the core of current transformer is having low reactance and low core losses? |
TAATT AW I PR HH Fiaard 3R He HN gl 4T T T &2

(A) To minimize the burden | ST &I HH HA & T

(B) To maintain constant output | TR f1eTd 1T 3@ & forw

(C) To prevent high static shield | 3Ta TR &TeT &I Udhel & ToIT

(D) To minimize the error in reading | &= H e T A Fa o faw

answer:D



Q.11 How the error in reading of a potential transformer can be reduced? | Td7d TIAHRFR T
qeel A FfE 1 HA A fohaT ST Tehl £7?

(A) Using thin laminated core | 9efoid SR 3T 3TN HIAT

(B) Providing long magnetic path | o[ Jeehra T FeTel el

(C) Using high flux density material | 3T YaTg Ysicd TTHIAT ST ST AT

(D) Providing good quality core material | 36T J[OTaT dTell S ATHIAT TETeT HiaAT

answer:D

Q.12 Why the load is disconnected before the OFF load tap changing operation? | 3iT% &I
¢T TEolet & TR T Tgel Al FT e G111 872

(A) To disconnect the tappings from neutral point | 3eTHleT foig & T Y fawANfSIT et &
IGIY

(B) To disconnect the moving contact of the diverter | 3TIECT & Tl 8T HUH FI AEATIT
e & T l

(C) To avoid heavy sparking at the contact points | T feigait o ey T1fehaT & T & foT
(D) To provide an electrical isolation for the windings | aTfSaT & faIT Ueh faegd 3rermma Fere
Hed o foIT

answer:D

Q.13 What is the name of the part in power transformer? | 9Ta¥ SIAHIHR H HT3T T T FAT

g?

(A) Breather | §eX

(B) Tap charger | 9 =Tk

(C) Explosion vent | TR dC
D) Buchholz relay | §@eef Rel

(
answer:D

Q.14 Which condition is absolutely essential for parallel operation of two transformers? | Gt
SRR & FHTAIR Tellelel & fT et € [EUfey fooepel 3maegs g7

(A) Nature of load | $TR & Jepfd
(B) Type of cooling | 2ffcdelsT YR
(C) Phase sequence | eIl 3ieIshA","(D) Class of insulation used | SEAHATel FrdTeleh T Aofr
answer:C




Q.15 What is the name of transformer? || TRAHIFR T ATH FIAT §7?

(A) Air core transformer | a3 R SIHBER

(B) Iron core transformer | 3T¥ReT SR TRAHRFR
(C) Ring core transformer | RaT R S @®ER

(D) Ferrite core transformer | SIS &I TTAHIET

answer:A

Q.16 Which transformer is used to measure high voltage installations? | 3T arecol fasaEAT
I AT & foIT fohg TRAHER T 39ATeT fohaT SITaT 872

(A) Pulse transformers | 9o& SAHIHT

(B) Ignition transformers | 3721 TRAHEFR

(C) Potential transformers | fa31a grE®RR

(D) Constant voltage transformers | f@ad aieesT SAHER

answer:C

Q.17 How does the moisture is controlled in breather fitted on power transformers? | 91a¥
gmmwaﬁgwaaﬁaﬁrﬁﬁﬁﬁﬁa%mm%?

(A) Using silica gel | TafererT Ster &1 39AT9T il

(B) Using transformer oil | SR & el T 3YJIT AT

(C) Using sodium chloride | @3 FARTISS ST 3TIT AT

(D) Using ammonium jelly | 3711 Stelt T 3UJ1T Sl

answer:D

Q.18 Which power loss is assessed by open-circuit test on transformer? | TRABRFR W
39eT-Afdhe a1aToT gaRT fohd aferd gifer T 3Tehelst foRdT SITdT 872

(A) Hysteresis loss only | $haer gEeRErg g

(B) Eddy current loss only | hdel @ &IRT &TfeT

(C) Copper loss | are g1fer

(D) Core loss | X gTfeT

answer:D




Q.19 Which is determined by the crackle test of transformer oil? | STHBTFR & el & shahel
¥C o fhaar fAeRoT ghar 872

(A) Acidity | 3TFerdT

(B) Moisture | sTHT

(C) Viscosity | 2T

(D) Dielectric strength | TRTfdEg Qrfehet

answer:B

Q.20 Which material is used to make core of power transformer? | 9ra¥ THBIET &l IR
FelTet o forw forar araelt &1 39ieT fovam STTaT 872

(A) Soft iron | 73T oligT

(B) Rolled steel | Tes TErer

(C) Copper alloy | dleT AT &g

(D) Cold rolled grain oriented | #Tes s I 3NMRTS

answer:D

Q.21 What is the name of transformer? | STEHTAR ST T FAT 72

(A) Auto transformer | 3iTeT TAHIR

(B) Core type transformer | X YR HT ZTHBIEHT

(C) Shell type transformer | 2T Y ST TIAHIFT

(D) Audio frequency transformer | 3iTfS3T 3T TEAHIER

answer:B

Q.22 What is the purpose of providing explosion vent in a power transformer? | 91a¥
B H TIEPIT 3¢ YT SHlel il 366 T 572

(A) Air releasing | 4T BIS=T

(B) Heat releasing | AT BT

(C) Pressure releasing | GaTd ©IgT

(D) Moisture releasing | wTHT BT

answer:C



Q.23 What is the function of buchholz relay in power transformer? | fSsTell grAHER EI'@’I_\-:T
Rt 1 ) 7 82

(A) Protection from high temperature | 3T ATIHTT & F&T

(B) Protection from moisture entering in oil | deT & AT e aTel A et

(C) Protection from pressure loading in tank | ¢ & gaTa SIfSaT & FRa&tr

(D) Protection from both overloading and short circuit | yﬁﬁmwwaﬁa’rﬁmm
answer:D

Q.24 Why primary of potential transformer is wound with thin wire and large number of
turns? | &1 fI87a SRABIER T YTAfAeh deell IR 3R o= &A1 # gamat & ary Ssfad
ST 87

(A) To offer high inductance | 3a 90T &= & foT

(B) To obtain required voltage ratio | 3Ta2Te dlecol 3T YT el & folT

(C) To regulate the primary current | ITaf&es &IRT I Rferafa s & fe

(D) To stabilise input and output voltage | $9¢ 3R 3T3eYC dleest I FER Fet & fow
answer:A

Q.25 Why distribution transformers are normally connected as primary in delta and
secondary in star? | facROT TRAEER ATHT T I eer 7 i 3R Fer 7 gfadaes & &
H 1 T3 gV

(A) To avoid overloading | 31fa#TROT & §9a1 & foiw

(B) To maintain constant voltage | faRcX dlecs ST @ & forw

(C) To reduce transformer losses | ZRABIFAT & 8Tl &l HH el & foIT

(D) To easy distribution of 3 phase 4 wire system | 3 FeT 4 AR Ul & 3T fddoT & forw
answer:D

Q.26 Which type of emf is induced in an ideal two winding transformer? | 31TeeT ar arsfaar
TABER # g YR énm IRT grar g2

(A) Self induced emf | T IR STHTH

(B) Mutually induced emf | 3=dl=g IR STATH

(C) Statically induced emf | 2R IR StaT®

(D) Dynamically induced emf | sTfaefier 7 & URT STATH

answer:B

Q.27 How to determine copper loss in a transformer? | Te ZrEAHER H did Ich&TeT T
fareiRor &8 w12

(A) Ratio test | 3feJqaTcd gI&ToT

(B) Impulse test | 33T greToT

(C) Short circuit test | &g TRIY T

(D) Open circuit test | GeI TRYY TEE

answer:C

Q.28 Why ferrite core is used in radio receivers? | %8¢ B T 39T ITaT RATaR 7 Fa7
R Srar g2

(A) To reduce the constant losses | fddd g1feT &l &d et & ToIT

(B) To reduce electric interference | faege cafcehioT &l sl el o folw

(C) To increase the quality of sound | &Y &Y I[oTaT Fell & faT

(D) To increase the efficiency of receivers | RETaX Fr g&Tar et & foiw



answer:A

Q.29 What is the advantage of stepped core arrangement in larger transformers? | §3
CIAHIAT 7 TRUTECY Y STTEUT T FAT BIIGT 72

(A) Minimizes copper use | A&l & 39T T HH AT &

(B) Reduces hysteresis loss | feecRad gifd dA H ST

(C) Reduces eddy current loss | $7aX &TRT gTfeY bl SheT el

(D) Reduces the space for core | HR & ToIT 7918 A I &l ¢

answer:A

Q.30 Which material is used in breather to prevent moisture entering in the transformer 0il? |
TIABEFR el H THT Sl Jchet oh ToIT G H Tohd TTHIAT ST 3TIIET fhdT ST 82

(A) Silica gel | fafereT Ster

(B) Sodium chloride | Gif3T# Feik1ss

(C) Ammonium chloride | 3@ AT FARES

(D) Charcoal and salt mixture | TRehTel 3R TH T fFHOT

answer:A

Q.31 What is the disadvantage of auto transformer? | 3fTeT TRIBEFR T Jh T FT g7
(A) More losses | 31T grferar

(B) Heavier in weight | a<iel # 8T

(C) Poor voltage regulation | @« dtecol fafagateT

(D) Cannot isolate the secondary winding | &I TSfSaT &l 37cT9T AGT T Hehdl
answer:D

Q.32 Which cooling method is used in pole mounting distribution transformer? | 9rer
FARNTST fAaRor s & 5 efdere RAfer &1 3uier forar Srar &2

(A) Air natural | AT JTehfcieh

(B) Oil natural air blast | éﬁmmm

(C) Oil forced air forced | oel aterd gar Sterd

(D) Oil natural air natural | T WTehfdis gaT YThidsh

answer:D

Q.33 What is the composition of steel and silicon steel in transformer core? | TEHEFR HR H
et 3R RAfeeiea Tar T Far 8?2

(A) Steel 97% and silicon 3% | TEreT 97% 3R faferisT 3%

(B) Steel 95% and silicon 5% | Tt 95% 3R f&forret 5%

(C) Steel 93% and silicon 7% | T 93% 3 AT 7%

(D) Steel 90% and silicon 10% | Tl 90% 31} fAferhisT 10%

answer:D

Q.34 What is the purpose of tap changing in power transformers? | fosTell giE®ER & &0
IfSTeT 1 32T FAT B

(A) Change voltage ratio in distribution | feRoT & aledsT 3eTdTd deel

(B) Change voltage ratio in distribution | facRoT # decsT 37eTdTd el

(C) Maintain secondary voltage constant | &fddigeh alecst AR T T

(D) Load the transformer for maximum efficiency | 31fIehde g&TdT & foT TRAHER o8 Y

answer:B
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